Guvenal T

Die & Mould Compon

Standard Injection Mould Systems / Innovative Solutions for Your Moulds

CUVIS A

@ Code:  gjide ) (® Code: SXtra A
wasi o (@ O w
—{
f o ) , )
@ @ FEE Code: D[(;g?ele @Mmde. Expandible
Stamp ) Core
Color Code: Hex Key )
Plate @ EXtTeuntfelon
J J
Code: Date A Cod: Seal )
FP Sé?mp @ B$agnq
us ) ube )
Code: (';'lex e | [ @ COdei Ejector Plate
BR Ogli%‘OfJ Accelerator
Code: Optionah - Code: Maqneti(;\
ID Insert for @ V ™ Safety
Undercuty Stopper )
) A
b Coce: | O @ Code: Threaded
DHO lier ) Limiter
Code: Cgmpact\ / Code: SSJpetgiloﬁ
oring @ ouble
UA Unit Y, Dx Ejector )
Code: Seal Code: Shock \
SB Bearing @ Absorber
S ) ) Disc Y,
For products not available in our catalogue, please request technical
information or Cumsa catalogue from our company. Code:  Safet ) ., Code: Slide )
@&&5 y y Bc
: BS stap ) i 4 Base
) )
Code: |dentification @f Code:  Headless
Ejector
P Plate | — T Pn
Code:  Date ) Code: Tul
Stamp @ i Ulip
FP Plus Ejetor )
‘iﬁei Recycle @\ Code:  Standard
Insert i
) Lifter )
N ) Flexible )
Code: Air Poppet @ / Code:
Sprung
VA Valve ) / Core.
N\ N\
Code:  Block @ 3 Code: %nl?ildeg
BM Base insert) { | Bush
Gode:  Adjustable’) Code: Lifter
cG Wedqe Shaﬁ
Assembly J )
f )
Code: Core ®  Code: Ejector
Cam @ Pin Base
uc cn | (D & BA >
~
Code:  Lifter ) @ Codei lBJnderL?utt
ni
IF Head ) -"- ase Unit )
N\ ) ) A
Code:  Agusted @ Code- Horizontal
CA Slide \asn Base
J J
@ Strap f@ , Code: Accelerate? @ C(’dei Fixed h
AB Extender % AE Ejector ) Lifter Base)
230 | l www.guvenal.net G

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

info@vivtech.ru

(=

www.vivtech.ru



CUNVIS A

Guvenal m

Die & Mould Compor

Standard Injection Mould Systems / Innovative Solutions for Your Moulds

Shock )

@UO ('i[')ii Absorber

Disc

@ /& ssgs,u

@ Code: Intemal
MX Latch Lock

Code Vacuumjet\
@ Valve
Tube

— ode: Stroke
@ / SL Limiter
J

\

@ “:’f*!; Code: Vacuumjet
CvV Plug

J

Code: Cable
@ \ SC Retainer
@ S Code: Adjustable
¢ CR Wedqge
@ 1 COdei Angle Pin
Housing
Code: Square
@ v G Angle Pin
Housing
@ Code: Angle
Pin

Code: Slide

@ ' " RCM Retainer

\_

N\ N
Code:  Plate ? Code: ppeumatic

@ J Retainer @ b PT Piston
/L J
N\ A
| c de: Code: Automatic
@ﬁ ji i | | @ # ik vecume
J \ System )
(@ Code: Vacuumje? (@ Code: DFéietl):e )

WV Seal DY Ejector
L /L J
( ; - N\ N
@ l:!"| Code: ?tllrr\lilﬁlgr? @ ﬁ Code:  Ejector Pin
\_ . VH Pressure ) \_ BT Base )
( o\ N

Special . )
Code Code:No - rotating

Angular %
\@ DH Undercut k@ NP “head for )
( N\ = N
— Code:  Spi &F— Code:
g : piral —_ : ;

@ = VS  Skewe gﬁc"‘ﬁ": pPH Eector

_J - J
For prody?ts not'availatc)le in our caltaloqufe, please request technical
S - Sl_[l)iggd information or Cumsa catalogue from our company.
VV  Vawe @ CC ‘cyce

Counter

e Code: Dog
@ ‘@B |

Limiter

Code:  Automatic

RA Retainer

@ Code:  Compact
Double
SY Ejection

Code:  Superior
@ nx Dpuble

Ejector

Dog
Lifter
Limiter

<. Code: Magnetic
Dy ™
Stopper

www.guvenal.net

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

18]

+7 (495) 755-91-45

E | 231

info@vivtech.ru  www.vivtech.ru



Mini Guide

It is consisted of angular pin and locking thrust
wedge. While mould is closed, it can be easily
adjusted with allen key. All machining is made
90° to the parting line. Parts can be replaced
from the parting line.

Material: 1.2312

Mini Slide

It is ready for machining, it comes with
adjustment tolerances. It is only necessary
to machine the cavity area.

Material: 1.2344

Hardness: 44 + 2 HRC

Patented System

Mini Base

An unique unit hardened and ground with the
adjustment tolerances. Has various assembly
posibilities and it is also easy to change, with
magnetic retainer. Minimum space required for
installation.

Material: 1.2510

Hardness: 54 + 2 HRC

~1.080 N/mm2, Attention! Machining reference is 13.2
Patented System Patented System Rz 6.3
Attention! Standard stroke of 4mm. @
48 ‘ o
® i T o
2 | !
‘ o 2
| \ | L4 8
= M | s
LAV - & |1 21
\\ CR_ | @
AN A - |
\ 20 o ~/ —
- 17— l [ 56
(0]
‘ghw | Rz 6.3 |
37.15 K §
Rz 6.3 o \ Rz 6.3 o
5 @O0
A G} 7]7 <« Rz63
Rz 6.3 Rz 6.3
A B A B
A CR Order mm mm Order mm mm
Order
mm (N) MC.121252 12.5 12
MB.122056 12.5 28
MG.121648 12 50.000 MC.121652 12,5 16
MC.201252 20.5 12 MB.202056 205 36
MG.201648 20 90.000 MC.201652 20.5 16 : :
Installation & Operation  Mould Opened Mould Closed
Examples
1- Determine the position of MB Screw - DIN 912
(mini base) and mount it.
2- Place the magnetic retainer
into hole.
3- Insert MC (mini slide).
4- \While mould is closed, please
i ini sli |
adjust MC (rT1|n| slide) up to M5x16 L.
0.6mm maximum. Screw - DIN 912 i Max. 0.6 i

232 | E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

DIN 6325

www.guvenal.net

+7 (495) 755-91-45

info@vivtech.ru  www.vivtech.ru



Slide Unit Code: SU

Ideal to de-mold external details. Compact unit with strokes up to 5mm.
Slider is made from two different inserts, allowing flexibility regarding the
molding feature. All machining can be made 90° to parting line. Easy to
change molding inserts due to fixing method. Incorporates a slide retainer
and an angle pin.
Material: 1.2344 )
Hardness: 54 = 2 HRC | /T Gpecid
] X

Code: UU

Inverse movement regarding normal units, ideal for de-moulding internal
detail. Compact unit with strokes up to 5mm. Slider is made from two
different inserts, allowing flexibility regarding the molding feature.

All machining can be made 90° to parting line.

Incorporates a slide retainer and an angle pin.

Material: 1.2344

Hardness: 54 + 2 HRC

Undercut Unit

Patented System ‘ D Patented System
‘ (Max T —s
| : 13 (Special) \_! ‘
s i ; \ é{ inv(Mam | m ~—J +0.5A‘
5 210 { 0 o i 2
: T | i 1
¥ By \ 8 i
@ = \ 21° LS !
- Material: 1.4034 ‘ T S L | 5
aterial: 1. | i | = 1)
! : & ]
50 + 2 HRC ‘ 1 37 ] | |
AN T o+ | i i Material: 1.4034
® HERHETS 3 i ‘ 50+ 2 HRC
" \ Xoay) || 0 L]
‘ & | \
- N\ ©
T M ‘%CQG—'
S 4 I | o— 14 F )
< o = 1
| LIS © | o i S
& | 3 <
[ ' o ¥
O ) ]
—K— AN 4 @3
e F222 LﬁK;F:r‘oos H+os
Code: SU Code: UU
Order A B C D E F H Order A B C D E F G
SU.081220 8.2 | 12 20 10 18 28 32 uu.081220 8.2 | 12 20 10 18 | 245| 12
SU.121626 12.2 | 16 26 12 24 | 375 | 36 Uu.121626 12.2 | 16 26 12 24 | 32.5| 16
SU.162032 16.2 | 20 32 16 30 (46.5| 40 UU.162032 16.2 | 20 32 16 30 41 20

K L M R S T X H J K L M S R T X
12.5 8.25 8 SN/5 8 M4 6.2 32 16 | 12,5 8.25 8 3 3.75 | M4 6.2
17 10.5 11 4.5 4 M5 105 | 11 4 4.5 M5 7.2
22 13 14 5 5 M6 13 14 5 5 M6 9.2
@ Installation & Operation Example
\R S+3 :
ATTENTION!
G www.guvenal.net E 233

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru




Adjustable Wedge Assembly

(Heel Unit)

Code: CG

It is unit of core / slide system starting motion. Adjustable with the mold
closed. All machining is made 90° to the parting line. Parts can be replaced
from the Parting Line. Hardened steel pre-adjusted for immediate use.
Hardened wear plate. Two outer screws force the heel against the slide
forming the shut off, while the central screw locks it into position. Minimum

space required for installation
Material: 1.2312

o,

Adjustable Wedge
(Heel Unit)

Adjustable with the mold closed. All machining is made 90° to the parting
line. Parts can be replaced from the Parting Line. Hardened steel pre-adjusted
for immediate use. Hardened wear plate. Interchangeable parts. Allows the
slide to be adjusted with the mold closed. Two outer screws force the heel
against the slide forming the shut off, while the central screw locks it into
position. Minimum space required for installation

Material: 1.2312

Code: CR

~1.080 N/mm2, A ~1.080 N/mm2,
Patented System D Patented System
B = E— A
2 R =0 UJ\ B = =
5 —R— 5 |°°V g - T o ’75—;
‘ r H H — =]
H ) \
\ | ‘
L RS T El
(- (A _ (7
© G © (&) > )
Gl
Screw RP Angle Pin Screw RP C
DIN912  2xDIN913 DIN 912 2x DIN 913
15°
' ' AR -
S
/ 1 5%5 ? Code: CR
Order A B c D
Order A B C D E G H CR.403840 40 38 40 25
CG.603035 60 | 30 | 35 | 25 | 23 6 23 22222(8):2 ;12 gg gz 22
CG.604035 60 | 40 | 35 | 25 | 23 6 23 :
CG.754049 75 | 40 | 49 | 30 | 32 7 27 CR. 526852 o2 68 52 32
- CR.527556 52 75 56 32
CG.864857 86 | 48 | 57 | 35 | 36 8 32
K M R TF Y] RP CR (N £ = s ! RE L)
) 30 22 12 M8x30 | 101020 320.000
29 | 43.7 | 17 | M6x25 | 10 | 081015 180.000 35 8 16 | M10x35 | 121025 480.000
39 58 22 | M8x30 | 12 | 101020 320.000 40 45 16 M10x35 | 141030 750.000
44 65 28 | M8x35 | 16 | 121025 480.000 40 50 16 | M10x35 | 141030 750.000
=T: 2 x Screw
Mould DIN 912 T: 2 x Screw
Closed — DIN 912
u

234 | E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

(Adjustable

Wedge)

ATTENTION!

Setting Process:

1- Unbolt "TF" (screw)
2- Tighten "RP" (screw)
3- Lock "TF"

www.guvenal.net

Closed

L =0 CR

<=0 (Adjustable

Wedge)
Setting Process:
1- Unbolt “TF" (screw)
2- Tighten "RP" (screw)
3- Lock "TF"

ATTENTION!

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Code: CG

Adjustable Wedge Assembly
(Heel Unit & Including Pin)

It is consisted of angular pin and locking thrust
wedge. While mould is closed, it can be easily
adjusted with allen key. All machining is made

90° to the parting line. Parts can be replaced
from the parting line. Angle pin included in
CG - SET. Hardened steel pre-adjusted for
immediate use. Hardened wear plate.

Material: 1.2312 Attention!
~1.080 N/mm2, Standard stroke
Patented System of 12mm.

735

Adjusted Slide

Code: CA

Interchangeable and completly adjusted, only
requires the part detail to be machined.

Its rectangular shape simplifies machining.
Anqular hole is drilled on slide.

Material: 1.2344
Hardness: 42 + 2 HRC
Patented System

Attention! Machining reference is 24.5

Guvenal®=

Die & Moul

Slide Base

The slide retainer is built into the set.

Id Components

Code: BC

Different hardness and materials between CA

and BC to guarantees smooth movements.
Interchangeable parts. Parts can be replaced from
the Parting Line. Hardened and ground, with the
correct adjusting tolerances. Incorporates a
magnetic Retainer (RM) which must be installed
after the slide adjustment and allows fixing the
slide movement where needed. Minimum space

required for installation.

Material: 1.2510
Hardness: 54 + 2 HRC
Patented System

Rz 6.3

r

[=e]
oN

L ﬁﬁ ‘RZB.B

e it

€974

P

g8-!

—x—
b —

f 1x17 85
o] X
@ o [——28— 49 o
j_ | = w w
5% B—7 | oA \%’,
@& < = 0 %
D—1t | 5 i /720
< 2| T &
Order A B Rz 6.3 77{} {}
CG.603075 17 30 Order A B
CG.604075 22 40 CA.322080 32 20 6
CR (N) RP (Screw) | Angle Pin CA.322480 32 24 Order A B C
180.000 081015 | GI.010075 CA.422080 42 20 BC.322885 32 56 | 215
320.000 101015 G1.010075 CA.422480 42 24 BC.422885 42 66 | 26.5
Mould Opened Mould Closed Installation

114
@6x14
Dowel Pin
DIN 6325

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

M6x25
Screw - DIN 912

Screw - DIN 912 ;_Max 1

www.guvenal.net

+7 (495) 755-91-45

1- Determine the position of BC
(slide base) and mount it.
2- Place the magnetic retainer

into hole.

3- Determine the position of CA

(adjusted slide).

4- While mould is closed, please
adjust CA (adjused slide) up to

1 mm maximum.

E | 235

info@vivtech.ru

www.vivtech.ru



Angle Pin

This item can be fitted to any of the corresponding
Cumsa sets (CG, GR & BG). Several diameters and
lengths of angle pins.

Attention! When ordering, indicate the desired
“L" dimension after the order reference code.

Material: 1.7242
Hardness: 60 + 2 HRC

Square Angle Pin Housing

This is similar to the round Angle Pin Housing (GR)
but allows the fitting of angle pins from 15°or 20°.
This unit is bigger than the GR to allow for the
greater angles and it requires a square pocket to
be machined in the mould base. All machining is
made 90° to the parting line. Parts can be replaced
from the Parting Line. Minimum space required for
installation.

Material: 1.2312

31|

Angle Pin Housing

This unit incorporates a predrilled hole for the angle
pin which eliminates the need to angularly drill

the mould base.The mould base only needs to be
drilled from the front to accept this unit. The unit
comes in either 10°or 15°.

All drilling is made 90° to the parting line.
Parts can replaced from the Parting Line.
Minimum space required for installation.
Several diameters and lengths of angle pins.

- Akeq
( TN
s ¢
g ~
=
| o =
2
>
*AQB*
-
%/7,
R
Order A Bushing / Adjustment
Area
G1.010.. L 10 =~ o5
Gl.012.. L 12 = 30
G1.016.. L 16 ~ 35
G1.020.. L 20 ~ 10
G1.024.. L 24 ~ 15
G1.028.. L 28 ~ 50
4 4 | o075 | 090 | 105 | 5
4 4 | 095 | 110 | 130 | 6
4 4 | 115 | 135 | 160 | 8
6 6 140 | 165 | 190 | 10
6 6 | 170 | 195 | 220 | 12
6 6 | 200 | 225 | 250 | 14
236 | E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

~1.080 N/mm2, g‘—‘_'g p §
Patented System & f'_ @
=] ) = ) /‘/,/«Y—J:H
N r—Fp 1 N N — pf=——==== <
e -y R T <§X°ZA//
l — 1 ! A IGIP
. L ,
Td=——— |- Aeem
Screw - DIN 7791 4
An(u;g = Material:
L ’ 1.7242
) Hardness:
@, @ 58 + 3 HRC
"/ l6x6
Order A B © F Order A B © D E
BG.423016-15 | 42 | 30 | 30 | 75 | | GR182622-10 | 18 | 26 | 22 | 12 |10.8
BG.504020-15 | 50 | 40 | 36 GR.222826-10 | 22 | 28 | 26 | 16 | 11
GR.283432-10
BG.554024-15 | 55 | 40 | 40 28 | 34 132 116 | 13
GR.344038-10 | 34 | 40 | 38 | 20 | 17
BC.055028-15 | €5 | S0 | 45 | 12 | ["orapasa6-10 | 42 | 45 | 46 | 20 [19.5
BG.423016-20 | 42 | 30 | 30 | 7.5 | | GRuesos0-10 | 46 | 50 | 50 | 20 | 21
BG.504020-20 | 50 | 40 | 36 | 9 GR.182622-15 | 18 | 26 | 22 | 12 |10.8
BG.554024-20 | 55 | 40 | 40 | 9 GR.222826-15 | 22 | 28 | 26 | 16 | 11
BG.655028-20 65 50 45 12 GR.283432-15 28 34 32 16 13
GR.344038-15 34 40 38 20 17
G K T U X
15 28 MGx35 216 GR.424546-15 42 45 46 20 [19.5
X
GR.465050-15
22 34 [M8x40| 820 | .0 46 | 50 | 50 | 20 | 21
22 38 | M8x45| @24 F|[G|H S T u [ x°
26 45 |M10x50] @ 28 75 3.8] M5x5 | M5x16 | 10
15 28 | M6x35 | @16 11 [ 6| 4 12
22 34 [Mexa0| 820 | o 13 5 | M6x6 | M6x16 = g 1°
22 38 | M8x45 | @24 17 5.5 20
26 45 |M10x50] @ 28 19.5| 8 M8x6 | M8x20 | 24
21 7 28
; < e 22 3.8 M5x5 | M5x16 | 10
X Screw -
111614 | Mexe | Moxi6 2
13 5 16 | 0
[ 17 5.5 20
19.5| 8 | 6 | M8x6 | M8x20 | 24
21 7 28
www.guvenal.net \&

+7 (495) 755-91-45

info@vivtech.ru  www.vivtech.ru



Core Cam (for lateral holes)

Mechanism to make lateral holes, automatic retention for the core insert.
Requires very small area for installation. Reduces costs in machining
and fitting. Reduces mould production time. Machining for installation

is easier due to always being at 90° to parting line. Offers a standard
solution to the mould makers.

Material: 1.2344
Hardness: 52 - 54 HRC
Max. working temperature: 150°.

Attention! Standard
stroke of 4.4mm.

4.4 I
E 7.8
T |
16 |
I ]_ } 24
| 1 _
150 10243 |5 115 ;
Green Spring | [ F=——=—3 ® [
% 30
|
L-ﬂ 23.‘9-0.1"|
Retraction Force 3246 2 x M5-30
—————— 22
= 44 /~ Serew
— ]
< 40 Kg. @ i @
(G- — L)
| i
S S ‘ f 11

Option for

f L T o
machining keyway. 121 Iis’l'_j"s ''''''' | =17 T
' A
T
|

6.4

DX orer UC.325445

/N

BEY
<

L
T

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

www.guvenal.net

Compact Coring Unit (for lateral holes)

This unit uses the open and close movement of the mould to make lateral holes
in wall sections of plastic parts. Easy to assemble and remove from the mould.
Reduces costs in machining and fitting.Reduces mould production time.
Machining for installation is easier due to always being at 90° to parting line.
Offers a standard solution to the mould makers.

Requires very small area for installation.

Material: 1.2344
Hardness: 52 - 54 HRC
Max. working temperature: 150°.

]

Attention! Standard
stroke of 4.0mm.

| 10
. \ . Material: 1.2379 | ]
\ 58 + 2 HRC 8 _
24 | IS0 10243 l
L ¢ Green Spring

eeeee ~/ -~ H |

Option for
machining keyway.

DX ower UA3G3616 | D0

=7

M5x25
4xDIN912

L H

= =

20.5

01

E 237

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



8 )

Automatic Retainer

This retainer for large slides is actuated by the angle pin, ensuring
smooth and easy movement with no excess force required.

Reduces costs in machining and fitting. No need for complex retaining
systems or expensive hydraulic systems. Retention of cam slides up to
2000 Kg. Offers a standard solution to the mould makers.

Attention! Cut the rod 0.5mm shorter than the slide height.

Material: 1.2510
Hardness: 56 + 2 HRC

16
i!
@
e

12.5
—18—— i
& & [20 ©
&S
LI
(2)126 :;:- i @ \
g
——) {B |
= ol
i
E M6x30
=S Screw - DIN 912
(=]
£

250 +5

630 HV 0.1
~———]

A(L Mat.:
11.8 1.7242
v Order: 60 HRC

< RA.163812
2180
238  E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

1'9.\;""7‘

Safety Strap

Keeps the mould closed when it is not in the machine.

The mould is unlocked automatically, when mounted on the machine.
Minimum space required for installation. Guarantees automatic opening
and closing of the mould when loaded or unloaded from the machine.

Material: 1.0503
Hardness: 53 + 3 HRC

Order L|{M|N|X

BS.075100( 75| 100

Strap Extender

Used where the cavity plate is thicker than 120 mm.

order: AB.302613

Material: 1.0503
e

] i
@0 ==}

L 14 ] M6x16 2xDIN912

www.guvenal.net \&

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Slide Retainer

Incorporates a mechanical stopper.

The fixing pin has rollers to avoid wear on friction
surfaces. Less machining for installation
compared to similar products on the market.
Minimum space required for installation.

Material: 1.8159

T
Hardness: 45 + 3 HRC %ﬁ
[ ]
#O.C :
N |
<.3'[ 1 [ \ F
S | T \.,RA,
Hl L | °
JI \ ‘ S
- 0c-01 58 +2 HRG
4 .
=2 HR
&

Order A[B|C|E|F|G

RCM.163808

RCM.204810 |20 8.7

RCM.245712 |24 37.59.6

H

[

K

Optional Dowel Pin

for Slide Retainer

Optional method for holding the Slide Retainer,
that simplifies the disassembling.
This item must be ordered separately.

Material: 1.3505
Hardness: 60 = 2 HRC

M
DIN 7991 with PO
T G‘min.
L A @@
+1 1 y
L@PJ /
Mould Open Slide Mechanical

)
J

H \ Stop Recommended
g X

4 |10 M5 |M6| 9

N
8Kg. | 7| 8
8

5 | 11 |14 Kg. M6 | M8

6 | 12 [18Kg.| 9 M8 [M10

K: Force to release the retainer.

Slide System ] L+o0s
Mounting Example S

Slide Demounting

)

Mould Open

)
i

min.

5
U

o =0 4 =0

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

Gmin. . .
\ E»\ Slide Demounting
(o= )
+1
/

Order L M N P
PO.120320 | 12 | M3x20 | 7.5 6
PO.150425 | 15 | M4x25 10 8
PO.200530 | 20 | M5x30 13 | 10
PO.250635 [ 25 | M6x35 16 | 12
P0O.340850 | 34 | M8x50 | 23 | 16

Mounting with Slide Retainer

*Tec. values are in
RC section.

Slide
Demounting

www.guvenal.net

+7 (495) 755-91-45

Slide Retainer

Less machining for installation compared

to similar products on the market.

Minimum space required for installation.
Reduces costs in tool downtime.

Offers a standard solution to the mould makers.

Material: 1.8159
Hardness: 45 + 3 HRC

0

2 ([ 1
|
|
!

T
DIN 7991

+C
DIN 7979

K<:

K: Force to release the retainer.
Slot depths should be: F = +0.30mm.

Order A|B C E | F
RC.123006 |12 |30 | 6x20 | 21 | 4.7
RC.164008 | 16 | 40 | 8x20 | 28 | 5.7
RC.205010 |20 |50 |10x24 | 34 | 7.7
RC.246012 | 24| 60 [12x32| 42 | 9.7
RC.328012 | 32| 80 [16x40| 56 |11.7
RC.328016 |32 | 80 |16x40| 56 |15.7

H K R T

16 | 5Kag. M5x16
15 | 7Kag. M6x20
17 |14 Kg. M8x25
23 |21Kg. M10x30
27 |28Kg. M12x35
25 |38Kg. M12x50

E 239

10
12
16
16

© |l | N | 0|~ |D

info@vivtech.ru  www.vivtech.ru



Retractable Core Extension

Standard extension. Flat for key position included.
Hardened and ground to size. Enables a standard
length of the PW up to 315mm. Keyed pocket
included.

After setting core, please
machining 0.1mm from end section
to make ejector effortlessly.

Min. 1
= z
. ;
= g
Sprung Core

Minimum space required for installation, only needs the space of an ejector. No milling, grinding or hardening
other than the machining of detail needed. Machining for installation is easier due to always being at 90° to
parting line. No need for complex mechanical systems. The opening of the sprung cores is a radial movement.
Due to this, at the edge of the stroke, the opening is 3.5mm (0.138”), 4.5mm (0.177”) and

5.5mm (0.217”), depending on the model (K dimension in the catalogue).

Correctly installed sprung cores (following our catalogue installation instructions) can produce more than

‘ 155 1 million parts. (welding is not recommended on any of the sprung core products & we only recommend
T using Balinit C coating, other coatings are not recommended as they can reduce the sprung core life)
I‘ ””””””””” Material: 1.8159 Hardness: 45 + 3 HRC Max. working temperature: 150°.
L ~ D)
@) 7 . L —
U 90 L0 ‘ 05, ,E
0.5-H-— 90 ]
| 150 O ———————— = %JK
[y O ) 0
{\"‘ ——— — 05 i_ Rz 6.3 = i[s
S o Bush '
T | 100 - T o Mat.: Bronze
== | L 0Ag | —
e ———— =E==)
v W Rz 6.3 / Rz 6.3
Order A C R
o 15x3G 58+2 HRC
AP.080615 8 6 | 125 Tolerance: H7 / g6
APR100815 10 8 2.0 Ord Al B|C|D|E|G|K|L|M|N|R|[T|U|V|W
AP.121015 12 | 10 | 25 reer
PW.060622 221 9 - 13.5|125| 16 | 18
6.2 el = =
S T U \Y PW.060630 30| 10 1214.5|175| 20 | 26 | ;, B
6 3.5 al X112 5 |*
9.5x 2 M4 14 5 PW.060822 8.2 22| 9 - 13.5|125| 16 | 18 ® 5
11.5x%x2 M5 16 6 PW.060830 13010 12|4.5]175| 20 | 26
145 x 2.5 M6 20 8 PW.080825 8.2 -
25 [11.5 — 140| 18 | 21
PW.081025 - = <
10.2 — N |9 ol
PW.081030 8 30 |11.2/4.5]12|4.5|175] 20 | 26 | o Z<J 14| 6 | x
SRS - PW.081225 oo 28115 |- | |140|18]21| |© &>
Sprung Core PW.081230 130 (|11.2 12 175| 20 | 26
PW.101430 14.2 g g
PW.101630 |10(16.2| 30 |13.6|5.5|16|5.5|175| 20 | 26 2 x |18 8 | x
| - PW.101830 18.2 & 5
v
Loy Ipor‘[am "D" gap (6mm): Up to < 3 mm.
"B" width: Min. 2° can be slepped
A f 6° surface / bushing: Min. 5 mm
R N Core can be adjusted with mould cavity.
(=) =} o
ok
lLo_5 Mounting
L G110 |-
Mounting Flange ‘ IV
oU
. pr— R <<
Guvenal [ s
L . . ]
Standard Injection  Innovative Solutions 0.5 G110
" The core length should be 0.02 / ounting Flange :
Mould Systems for Your Moulds Mould Closed ¢ g5mm bigger than its slot (housing). B Mould Closed
240 E www.guvenal.net \&

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



After setting core, please
machining 0.1mm from end section
to make ejector effortlessly.

Min. 1

Max. 20
Max. 26

"PX" Cutting Jig

Enables accurate fine tuning in the height of the PX.
Simplifies the measuring and cutting of the shaft

of the PX. Easier to cut larger quantities of PX at
atime.

How to use the PX Cutting Jig ?
1- Insert the PX into the corresponding slot, for 6
or 8mm. shank. Ensure that the shape of the PX

Xtra Sprung Core

The stopper simplifies the adjustment and allows a longer
lifetime guarantee. Completely adjusted to fit an H7 housing,
radiuses already made on the head of the sprung core.
Simple fixing system due to its external thread.

Available in three lengths. Jig to gquarantee the part is cut at the exact length (supplied separately).
Material: 1.8159 Hardness: 45 + 3 HRC Max. working temperature: 150°.

3 Stopper

head is adjusted in the housing support. L2 Stopper
2- Use an allen key to select the correct option:
flat @ or @round. o
3- Cut the PX to the required dimension. 1 "
rrrrrrrrrrrrrrrr R e = 2
Material: INOX / 1.4034 ﬁ'@o
‘ 130 0.5* E |—30 +0.02 ~
I s —s— B Gz63] 71
) N
— R
58 O ‘ =G Bush Mat.: Bronze 263
) | == I
e b= S ———— } el
10 —
! 15x012 58 + 2 HR(L/

When ordering, indicate the desired
"L" dimension after the reference

Tolerance: H7 / g6

L=175 | L=250 | L=325
Order A | B D E F N Q
G |Bush| G |Bush | G |Bush
/; PX.060630-... 6 [6.2| 10 | 3.5|12.5|60| - (80| - 80| - |25 12
g PX.060830-... 6 |8.2| 10 |3.5(12.5/60| - |80 - (80| - |25 12
oo PX.081030-... 8 |10.2|11.2| 4.5 |13.5|60| - |80 - (80| - |3.5]| 14
PX.081230-... 8 (12.2|11.2| 4.5 |13.5|60| - (80| - |80| - | 3.5 14
As other ejector, it is operated with ejector plates. Especially, it is ideal to remove small lugs.
)
[3°]
K=}
c.
2 R>0.1 5
=3 3
e -| |2 % g
!
|| Gl)— -1-- . | il
aE _l G110
v Order: {
M CX.013058 Mould Opened Mould Closed
G www.guvenal.net E 241

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

info@vivtech.ru

www.vivtech.ru



. | 1. 62%2
Undercut Base Unit | [ HRe
Used for internal undercut movements which require different }
angles of ejection. Its bronze quide bushing with graphite ; D P
inserts, simplifies its movement. No milling, grinding or i
hardening need, only pocket machining. ‘
Mat.: 1.2312 ~1.080.N / mm? IEN
Order Al/B[(C|D|L|M|P \ ?B
SD.3220GR |32|37]20]27] 80 |180] 10 ,,,,,7
SD.3824GR [38|40|24|28| 80 (210|12
SD.4528GR [45|44 (28|30 (100|250

Attention: The unit and
the rod are delivered
separately.

Mounting

After setting core, please
machining from end section
to "P" due to make ejector

effortlessly.
Min. P

Max. 26
Max. m

Flexible Sprung Core

Thanks to its parallel walls, this core allows undercuts to be released in
compact areas (only 4mm. thickness). Include a simple system for adjustment.
A new feature to this product is that it ejects first then releases the undercut.
Minimum space required for installation,only needs the space of an ejector.
No milling, grinding or hardening other than the machining of detail needed.
All drilling is 90° to the parting line. Available with and without Balinit C®
coating.

Opening Dimensions

-

The opening of the sprung cores is a radial movement.

L
25 1.6%

el s mim Due to this, at the edge of the stroke, the opening is 2.5mm (0.098”).
weight that the ‘ Mat.: 1.2101 ‘
Undercut Base | Code: PF (with Balinit) Hard.:52+2HRC 4
Unit can support: i R<0.15
SD.322010 - 320 kg ! @ 0B
SD.382412 - 420 kg
SD.452816 - 680 kg. { [ 2.5
Mould Closed ] Mould Opened ‘ ]
il
@ Ags— Code: PF.WB
5) T L —C
= e ar
e L. == Mat.: 1.2101 Hard.: 58 = 2 HRC
G%r Order A[B[C[G[H[L[M[NT]P][R [BalinitC
o PROAAIS0 14 1 g |2a|6 o B|12|14]0.8/ 30 —
PF.054150 5 6 |- .
Angled Guide Bush PR064200 | 6 |12 L7 .
This unit is'aquide bush for anqlgd undgrcut Eiggggg 180 12 30| 8 %% 18|20|1.0| 36 :
blocks, which only requires a straight drilled hole : H——
for fitting. It does not require oil grooves due to PF.124200 12118 13 °
the graphite-bronze insert. PF.0642-WB | 6 |12 L7 -
Material: 1.7242 Hardness: 58 + 3 HRC PF0842-WB | 8 |14 9 |9 =
PF.01042-WB | 10 | 16 ek T S |18]20/1.0]36 -
Oder (A |B|C|[D|E|G|H| T U | X°||[Pro1242-wB (1218 13 ] -
Cl.3034-5 | 30|34 |34 |16 |20| 6 | O |M6x16| 10
c1.3438-5 [34[38[38|20[2a 8 [0 [ 12 |80 R<0.15 4H7XAHKT |7
Cl.4040-5 |40 (40|44 (20| 27| 8 | O 16 >0.1 4 i
C1.3034-10 | 30 | 34 (34|16 |20 | 6 | 7 |M6x16| 10 >50 | B Mini R
Cl.3438-10 | 34 |38 (38|20 |24 | 8 [8.5 M8x20 12 |10° & ¥ )
Cl.4040-10 | 40 |40 | 44 |20 | 27| 8 |85 16
Cl.3034-15| 30 (34|34 |16 |20 | 6 7 [M6x16| 10 { M { OH :
Cl.3438-15(34 {38 (38 |20| 24| 8 [8.5 M8x20 12 [158° }
Cl.4040-15| 40 | 40 |44 | 20 | 27 | 8 |8.5 16 ‘ T
Cl.3034-20 | 30 |34 |34 |16 |20 | 6 | 7 |M6x16| 10 | Mounting %
Cl.3438-20 | 34 |38 |38 (20| 24| 8 |85 12 |200 Lt .
M8x20 G110
Cl.4040-20 | 40 |40 | 44 |20 | 27| 8 |85 16 Mounting Flange
""S": Demounting screw hole. Please see 3D file for "S" hole position. [ Mould Closed [ Mould Opened
242 E www.guvenal.net \& |

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru




2|z
IMPORTANT

Double Ejector

Two separte movements in one component. Minimum space required for
installation, only needs the space of an ejector.

No milling, grinding or hardening other than the machining of detail needed.
No need for complex mechanical systems. Useful to release small undercuts,
this ejector is pre-adjusted and height adjustable. Easy to install, machining is
90° to parting line. The Balinit C® coating offers smooth action.

Material: 1.2101 Hardness: 45 + 3 HRC
Max. working temperature: 150°.

Every Ejector is adjusted individually with its bushing, with a tolerance g6/H7
between them. For this reason, it is important to keep track of both pieces in
pairs while handling and installing. The opening of the sprung cores is a radial
movement. Due to this, at the edge of the stroke, the opening is 3.0 mm.

Tulip Ejector

Four separte movements in one component. Useful to release small undercuts,
this ejector is pre-adjusted and height adjustable. Cilindrical machining and
made 90° regarding the parting line. No milling, grinding or hardening other
than the machining of detail needed. The Balinit C® coating offers smooth
action. Minimum space required for installation, only needs the space of an
ejector.

Material: 1.2101 Hardness: 45 + 3 HRC
Max. working temperature: 150°.

Every Ejector is adjusted individually with its bushing, with a tolerance g6/H7
between them. For this reason, it is important to keep track of both pieces in
pairs while handling and installing. The opening of the sprung cores is a radial
movement. Due to this, at the edge of the stroke, the opening is 2.8mm (0.110").

175
200
U,e o \\ 9
< 58 + 2 HRC + 0}

Vi, © o o] Min.J) © 36—
—= -~ =
o ;lwg = E====—

Rz 6.3 ‘ . 85 @ E Max 116 Rz 6.3

Special lengths of 275 & 300mm. upon request.

Special lengths of 250 & 325mm. upon request.

C 1)

—‘ D6 Q)C:aao 52 2 HRC 10‘
__—+— | oAXMO0.75 g gC 52:2HRC
= el ;
— S Rz 6.3
(@)
Order A| B G D E G | H uijlv
Order A B C D E H U v
ED.068200 6 |12|14 (10|14 | 6 | 10 10 EE.060175 6 012 12 3 0
ED.088200 8 |14|16 (12|16 | 8 | 12 EE.082175 8 12 | 14 | 14 2 11 05
0.5 :
ED.108200 |10 |16 |18 |14 | 18| 8 | 14 EE.103175 |10 114116116} 3 | 13 15
15 EE.124175 12 | 16 | 18 | 18 4 15
ED.128200 |12 |16 |18 |16 |20 | 8 |15 EE.168175 16 | 20 |22 | 22| 8 | 19 |1.0| 20
0 5101520 2530 % Sio_is 202230 Opening Dimensions
T T I a\
3 [.o28126 Im ;)Bt%nt = Bl in i G— mportant I =
et : = R>0.1 —TE
Opening Dimensions :>0.1 ; ® } @
e L Il
{ ( J L Y [ [ H
[ | 2 Wit
~-2 H : \ | [l
‘ | 1%7 | G110
g ‘ | G110 | " Mounting Flange
|| ﬁ: Mounting Flange - [ MOU|d
} b | ‘ | : 10 | | | Opened
1 Mould Closed ‘ !Z_EJ ‘ Mould Opened L Mould Closed I
g G f 12A 2D

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

www.guvenal.net

E 243

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Fixed Lifter Base

Keyed pocket for the lifter shaft. Minimum
space required in the ejector plates.
"VI" (Lifter Shaft) may be used as ejector.

Material: INOX 1.4034
Hardness: 48 + 2 HRC

oA

Horizontal Base

Adjustable Lifter Base

Keyed pocket for the lifter shaft.
Minimum space required in the ejector plates."DA"
Allows easy adjustment of the lifter shaft height.

Material: INOX 1.4034
Hardness: 48 + 2 HRC

Lifter Head

Lifter Head hardened and ground to size.

No need for threads or dowel pins to

attach the Lifter Head to the Lifter Shaft.

Offers a standard solution to the mould makers.

Material: 1.2344
Hardness: 45 + 2 HRC

Patented System
A B

€974
€912y

| —
\ 0
ﬂ % Ch.3x15
\
T T T
)

Order A B G D Order A B C D Order A B G D
DF.061220 6 | 12 | 20 1115 DA.061020 | 6 | 10 | 20 | 115 IF064050 | 6.2 | 40 | 6 | 12
DF.081220 8 | 12 | 20 |115
DF101624 | 10 | 16 | 24 [135 DA081220 | 8 | 12 | 20 | 115 IF084050 | 82 | 40 | 7 | 14
DF121624 | 12 | 16 | 24 |135
DF.162032 16 20 32 19 DA.101624 10 | 16 | 24 13.5 IF.104450 10.2 | 44 8 16
DF202538 | 20 | 25 | 38 | 21
Sroeaias T o5 1 31 T a8 T 28 DA121824 | 12 | 18 | 24 | 135 IF124450 |122| 44 | o | 18
E F H T E F H L T R X Y z
12 0.5 10 M4 x 12 15 | 05 | 90 | 14 | Max40 40 5 35 36
12 05 10 M5 x 12
14 0.5 12 M6 x 16 15 | 05 | 85 | 14 | M5x40 38 10 6.7 35
14 1.0 12 M8 x 16
18 1.5 16 M8 x 22 17 0.5 10.2 16 M6 x 40 38 15 10.2 34
21 15 19 M10 x 25
% >0 ” V12 x 35 17 | 10 | 96 | 16 | M8x40 37 20 135 32

‘-1 Y Max

BD
Horizontal Base) Mould Closed

24| E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

Allow height
adjustement of the
ejector.

J

BD

Horizontal Base:

Mould Closed

www.guvenal.net

+7 (495) 755-91-45

Lifter Head

Max X
™

Magnetic
S. Stopper

F.Lifter Base

Mould Opened }

info@vivtech.ru  www.vivtech.ru



©

Lifter Shaft

Lifter shaft includes oilless bushing.

No need for threads or dowel pins to attach the
Lifter Head to the Lifter Shaft.

Offers a standard solution to the mould makers.

/‘ 3

Adaptable Base

Cam slide for internal lifters.

Different hardness and materials between base
and limiter guarantees smooth movements.
Minimum space required for installation.
Material: 1.2311 Hardness: 45 + 2 HRC

Horizontal Base

Cam slide for internal lifters.

Different hardness and materials between base
and limiter quarantees smooth movements.
Minimum space required for installation.
Material: 1.2311 Hardness: 45 + 2 HRC

Material: 1.3505
Patented System B +0.2 ¢ B +0.2 c
Adaptable Base T*ER'***'*'* A}, Horizontal Base| |/ %77777437
Slot / Housing A%oz @ Slot / Housinqplt t
i i A i +02
P Detail ‘ b {9\ Detail /) D {E{
\ 3 C 2P R 2P
| 5 riD—' C
|2 \ 1 Angled Undercuts D Horizontal Undercuts
e © \ \
= O © Q T~ L
It & o G o & &
I g R- ;)KE{
[ : :!5 Max.20% A R
el NG
E
i
RN VA z
& _|o
> |A[ L O =1
(T e & BT
1 o P
I \
Order A E L U Vv Order A|C|D|E|F Order A|C|D|E]|F
V1064200 | 6 |10 |15 |05 12 BD.122836 |12 [36[28| 4 [4.8 BD.122036 |12 |36 (28] 4 [4.8
BD.143866 14166 |42 | 4 |6.3 BD.142266 14 |66 |42 | 4 |6.3
V1.085200 | 8 |12 120 (0512 BD.163240 |16 |40 |30| 5 |6.3 BD.162440 [16 |40 |30 | 5 |6.3
V1.106200 10114 20|05/ 14 BD.204060 20160 | 44| 5 |83 BD.203260 20|60 |44 | 5 |8.3
BD.254672 25|72 |56 | 7 |10.3 BD.253872 25172 |56 | 7 |10.3
V1.127200 12 |16 |20 |1.0| 14 BD.315890 31|90 | 74| 8 |13.3 BD.314890 31190 |74 | 8 |13.3
G L P Q R T z G L P Q R T z
11.5| 10 5 5 4 M5 | 28 11.5| 10 5 5 4 M5 | 20
11.5| 10 5 5 4 M5 | 38 11.5| 10 5 5 4 M5 | 22
13.5| 12 6 5 5 M6 | 32 13.5| 12 6 5 5 M6 | 24
19 | 15 6 5 5 M6 | 40 19 | 15 6 5 5 M6 | 32
21 | 18 8 5 6 M8 | 46 21 | 18 8 5 6 M8 | 38
28 | 18 | 10 8 8 |M10| 58 28 | 18 | 10 8 8 |M10| 48
IF
Lifter Head
Ik
vi Lifter Head
™ Lifter Shaft
Magnetic / Vi
S. Stopper ] /‘/ Lifter Shaft
i /
o DA /DF ) DA /DF ; ] =
BD 9 f » Lifter Base HOnZO%BBaSE Lifter Base E
Horizontal Base g
2
{8
Mould Opened Mould Closed
G www.guvenal.net E 245

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

info@vivtech.ru  www.vivtech.ru



Guvenal&

ie & Mould Components

T\
Q
%
L
Important
Standard Lifter Code: PS Max. Operation Length
Compact unit for the release of small undercuts. The unit is completely pre adjusted and easy to install.
The space required for installation is reduced due to the vertical movement perpendicular to the ejector plates.
Minimum space required for installation, only needs the space of an ejector.
Mechanical solution. No milling, grinding or hardening
other than the machining of detail needed.
Material: INOX 1.4034 Hardness: 48 + 2 HRC Patented System
@
G
e 250+2 |
TN Rz 6.3
1 ) N
= 85 " I ——
; any (m S
| : ) A +— e —— e — :::;L—_v ---------- o 2
LS —= I
e - v @ B05
<-0.9+0.05 L— @ DxM0.75
8.0.05 Material: 1.2344
F}ﬁ 12 40 52 % 2 HRC
8b.05 .
L < ™~
S —— E— - b
i Red | gy T "Rz4 | 26—
=005 T Max. Ejection Stroke
Order Code A B (K D G M N R
PS.062250 6.2 10 12 6 3.4 12 16 1.25
PS.082250 8.2 12 14 6 4 12 16 1.25
PS.102250 10.2 14 16 8 4.2 14 18 2
PS.122250 12.2 16 18 8 4.2 14 18 2
—
— 40 —
N B Z * The bushing can be machined
N b ‘ to make the molding surface up
= to 25mm (0.98”).
L T
U How much can be cut from the
top on the bushing and RP in
Z axis?
| QN-H
™ PS.062250: 8 mm (0.315")
s“.”%‘%SSSSr — = — OMH7 PS.082250: 15 mm (0.591")
- PS.102250: 15 mm (0.591")
G110 i 18 PS.122250: 20 mm (0.787")
Mounting Flange ‘
‘ g Y,
246 | E www.guvenal.net

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6 +7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Vertical Lifter Block

They are used along with mechanic
Vertical Lifters, in profile block vertical
lifting.

Material: 1.2842 Hardness: 56 £+ 2 HRC
Usage: Removal process of profile block
(according to technical drawing detail).

1- Pull "TM" (Magnetic Stopping) safety disc.
2- Push ejector plate forward.
3- Remove lifter housing.

gf"

M
!
|
i
i

*"EV" must be

o=;>%

! ™

Magnetic
[2)

S. Stopper

~ L

I
|

[— 36—

\Ii_ 52 -0.05 —

L ——
Ay
(@)

ordered separately.

R <0.15

Blgg | —— P

Order A|B|C|D|E
PV.341252 34 | 12 | 28 |15.5| 27
PV.402452 | 40 | 24 | 34 (18.5| 33
G

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

Vertical Lifter

Reduces costs in machining and fitting. Reduces costs in tool downtime.
All machining are made in a 90° position. Less space required compared to conventional solutions.

Offers a standard solution to the mould makers.

Material: 1.2344

Hardness: 50 = 2 HRC ~ Patented System

*"PV" must be ordered separately.

150 * When ordering, indicate the desired
"L" dimension after the reference.
Ij ; -M6x10
M6x25] ° o
Screw \ 4
DIN912 \
EV \
\

o ; Order F G H L

- 1] -

] | .006. (L) 6 | 12 | 6.5 | 150 | 225

\ 85
EV.012. (L) | 12 | 18 |12.5| 150 | 225
l Il @G
]
@ FxMO0.75
<7
»ﬂ«
T
M%x. 26
PV
| . o o
llll I
— I
[ :_ﬁf -

H +05 /| o e | J
== J
) i
| ] 2
|
+ Mould ClosedJ Mould Opened }

www.guvenal.net

+7 (495) 755-91-45

info@vivtech.ru

E | 247

www.vivtech.ru



Guvenal &

Die & Mould Components

\Q

Custom-Made Sprung Cores

Special sprung cores to suit your dividual requirements.

If no other Cumsa undercuts product is compatible, this is your solution.
Delivery time from 6 to 8 weeks.

Different strokes and undercut dimensions are available.

Material: 1.8159  Hardness: 45 + 3 HRC

Custom-Made Angular Dog Lifters

This unit allows to use the advantages of the DB reference in angled parts.
To order this part just fill the Ordering Table provided. Once we receive the
required dimensions we will send to you a 3D file for your approval.

Material: 1.2311  Gas Nitrided ~ 840Hv.

Positive Angle Version

Negative Angle Version

c B .
x°
C
(0° to +209)
X
0°t0-209 ||,
L+2
-0
Co.5 R+0
F (Min, 0.5) =
] [ — [ >
g_‘_._._\ ............................ S\\_ a
D+0.1  /[{X°(Min. 3%
-0
Max. 56
Max. 56
W )
«Q
[22) | D
The dimensions A, R and X° will be determined by The other dimensions will be
* Cumsa depending on the head dimensions required determined by Cumsa.
by the customer.
Custom-Made Sprung Cores Custom-Made Angular Dog Lifters
Order B|C|D|E | F | L |Pcs. Order A B & x| Pes.
® & 44
,éb,oQ l@"’ o~
& S | 48
> k°§ ﬁb& ‘\@
R R 54
Guvenal CUVISA
Die & Mould Components e=—=
Standard Injection Mould Systems Innovative Solutions for Your Moulds
248 | l www.guvenal.net g

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Guvenal®=

Die & Mould Components

buigunopy jeuonipes}

« | Automatic Dog Lifter ' coe: DB Dog Lifter Limiter Code: LD
% Designed to function with just one set of ejector In single ejector plate systems.
."3['! plates, saving machining costs and reducing the Limits the stroke of a lifter with respect to the ejector
Q | size of the mould. Undercuts of up to 26mm with stroke. Enables two stage ejection with only one ejector
= just 56mm stroke. This innovative system gives plate. All movements are 90° to the parting line.
%’ the capability of designing their own insert. Minimum space required for installation.
o
3 Material: PKT-117 Hardness: 42 + 2 HRC. Material: 1.2311 Gas Nitrided =~ 840Huv.
Gas Nitrided ~ 840Hv.
5505
2 & 30 92
[ =
= 30
o § M6x20 ~ 010
g § DIN912 . 02601 © ] i‘
3 a \\ - 6
P e ——
a [ I\ = X
19 Recommended 1.5-005 —

M10

——] + N 25

Copper
\\
I )\ ; i e
= === +
__‘_,__;- o] M12);I1 1:.2‘ bél%t;ﬂé]cz N 30-3‘2HRC 1?7 t \
20 M6x50 dati
— Black Oxidation 1
Combine with DB / LD. 2OINIT2 Coating 5, rinots ]

1 o
— L =
=
N ‘:_:' Ao 63 Max. 56
,.JL__ \j|: g.. | 220hs 1
= = = \\ —
L | » _ L,,i,, | 36-0.05 + @ [T
— & =T A= — e | 2 [ T14
—— % ! } ﬂ I \\*\ 1 — @
3 [
-_,_,__7_7IJ L] e e -
185 WWW.Cumsa.com 15
Order A D E T X
DB.482292 48 22 35 6x40 22
DB.542792 54 26 41 6x45 26

o1

This innovative system gives

- . 20+2
L 2092] | *I
Undercuts of up to 26mm ™ ﬂ
M8*
©20Hs
the capability of designing st-os) m without support
their own insert.

with just 56mm stroke.
G www.guvenal.net E I 249

] Pls. machining as indicated.
02601 )
' — Order N
LD.142130 36401 —
IMPORTANT "DB/ LD" order =
Length: + 0.0 should be given
separately . )
I. R 1\
H with support
24,502 24,502
i M6—_ [ -
% J

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6 +7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



"DR" Cooling Hose
Cooling Hose for 90° "DR" Lifters.

undercut.

Maximum cooling fluid temperature 50°C.

The swivel coupling prevents the hose from bending excessively when demolding the

0
||
R

/8" Gasﬂm

Mat. INOX 1.4021

Max. 20°

L I
I
7T

100

21/8" Gas

o14] ==

13 &014

~G1/8

To adjust total
length

Mat. 1.0308 Zn.

Order RO

DR.xx-8

DR.xx12

DR.xx16 | DR1.xx20

10

10

10

0 0
DK.141818 |- —+9 10

10

10

15

+10°~ +20° 10

15

20

25

>+20° 15

20

25

30

Mounting

=
Ro

Double Rack Lifter (DR) Selection Table

(Neutral Angle (B =0) h (Negative Angle (B < 0°)

/
%

N

! —
'

‘ R~25 |B’= 3"

— R~17
DR.xx100L-16 DR.xx100L-12

\__ DRxx125L-12 /) \_  DRxx125L.-8 )

™

Designed according to the colour system in the table!

C

N

ositive Angle ( > 0°) A

DR.xx100L-20
DR.xx125L-16 )

Only 8°<0°

IMPORTANT

)
S)

DR.xx-100L - 8

DR.xx-100L-12

DR.xx-

100L-16 | DR.xx-100L-20

S (-8)[S (+B)

S (-8%)|S (+8")[S (-B")

S (+B8)[S (-B)| S (+B")

14.0

21.2 28.6

36.4

14

14

21.1(21.3(28.5

28.8 | 36.1

36.6

13.9

14.1

21.1(21.4)28.3

28.9 [ 25.9

36.8

13.9

14.1

21 121.5]28.2

29.1|35.7

37.1

13.9

14.1

20.9(21.5]28.1

29.2 [35.4

37.3

13.8

14.2

20.8121.6 (279

29.4 135.2

37.5

13.8

14.2

20.7)121.7)27.8

29.5| 35

37.8

13.8

14.3

20.7121.8|27.7

29.7 | 34.8

38.1

13.7

14.3

20.6121.9(27.5

29.8 | 34.6

38.3

13.7

14.3

20.5( 22 (274

30 |34.4

38.6

13.7

14.4

20.4( 22 |27.2

30.2 | 34.2

38.8

Z|B|lo|o|~N[o|alsw|Nn|k|e

13.6

14.4

20.4122.1(27.1

30.3 [ 33.9

39.1

[y
N

13.6

14.4

20.3(22.2| 27

30.5 | 33.7

39.4

[y
w

13.6

14.5

20.2(22.3]26.8

30.7 | 33.5

39.7

'_\
i

i1}355

14.5

20.1(22.4(26.7

30.8 | 33.3

40

[y
a1

13.5

14.6

20.1122.5(26.6

31 |33.1

40.3

[y
o))

13.5

14.6

20 [22.6]26.5

31.2 |32.9

40.6

[
~

13.4

14.6

19.9)22.7)26.3

31.4 | 32.7

40.9

[y
[o0]

13.4

14.7

19.8(22.8]26.2

31.6 | 32.5

41.2

iy
©

13.4

14.7

19.8]122.9]26.1

31.8 | 32.3

41.6

Min. 120

Important

rounded up to the next multiple of 25mm.

-

Please indicate the required L dimension when ordering; the length will be

J

20

13.3

14.8

19.7] 23 |25.9

32 | 321

41.9

Object Position / Mounting & Demounting
Measurement Table:

Stroke

F

G

H

JIK|M|N

DR16

10

4.6

45| 3 12.35| 3 (2.8

2.5| M5

M4

DR22

13

516

5.6|4.2 3.7 |14.2|3.5

2.5| M6

12 (M4

DR28

16

7.5

7.5

5.414.8|4.8

2.5| M8

13.5( M4

DR34

16

10.5

8

o w|o|o|=

16 | M4

DR40

20

11

11

4 [M10]10

20 | M6

DR46

25

13

13

[ RIENNENE NS}

5 |M12]10

24 | M6

250 E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

www.guvenal.net

+7 (495) 755-91-45

info@vivtech.ru

www.vivtech.ru




Locating and Rack Combination

Double Rack Lifter System

DR22
Stroke: Stroke:
100 100 - 125

DR28 DR34
Stroke: Stroke:
100-125 100 - 125
Code: DR

De-moulding strokes from 14mm to 60mm. Significant reduction to the ejection stroke.

“Mirror” parts available for 1+1 cavities moulds.

In Mounting: Fast delivery of the required draft. Vertical function maximizing strength. Complete flexibility for the moulding

I‘

DR40 DR46
Stroke: Stroke:
100 - 125 100 - 125

insert dimension. Eliminates the need for high-precision angled housings in the core plates. Smaller and less expensive
injection machine required. Possibility to produce angles bigger than +20° upon request.

Big savings in time & cost for machining and adjustments.

0B g6

Fast
Fit Housing

Fixing Area

Guven

Die & Mould Comy

e
nts =

Stroke (Value): 14mm.
Undercut Width (Value): 70mm.
Ejection Stroke: 100mm.
Mechanism Type: Mechanical
Cooling Available: Yes

Max. Undercut Degrees: +35°
Min. Undercut Degrees: -55°

Dimension selection table

is on the previous page.

ov Mat.: PKT-117 —
Hard.: 42+2 HRC | 8
Gas Nitrided ~ 840 Hy. N o
S
Mat.: 1.7225 =
48+2 HRC 8
i 35
15-0.05
% 9 Angle
Recommended _* 35
>
R
IMPOTANT Fi - Lif— B5eh g gﬂ (1] )
| Fowww] Ll v ] B “
Length: 0.1 mm L I |22T—30-32 HRC Stop
i [
L T 0C h6 m
Order A B o '9"
"Stroke 100" "Stroke 125"
DR16100L-X _ _ 16 9 t Angle selection table is @
on the previous page. 15)
DR22100L-X DR22125L-X 8 22 12
DR28100L-X DR28125L-X 12 16 28 116 | (i 'S lotor s added to the end of
- etter is added to the end 0
DR34100L-X DR34125L-X 20| 341 20 Mirror Part order code for Mirror Part.
DR40100L-X DR40125L-X 40 22
DR46100L-X DR46125L-X 46 24 |
C| D |E|L100|(P100|L125|P125| Q | R | T | U [ V [ Order: Stroke 100 - S | Order: Stroke 125 - S
8 |20 (20] 142 | 178 - - 4 |IM4A|M5]10| 6 DR16100L-X-S - IMPORTANT!
12 | 30 | 22| 148 | 202 | 202 | 261 [6.5|M6|M6| 17 | 8 DR22100L-X-S DR22125L-X-S When ordering, replace the x in the
14 | 36 |28 |152.5( 214 [194.5| 266 (8.5| M8 | M8 | 23 8 DR28100L-X-S DR28125L-X-S reference with the required Xe
16 | 36 | 34|160.5| 227 [188.5| 264 |10.5|M10| M8 | 23 | 8 DR34100L-X-S DR34125L-X-S dimension (8°, 12°, 16° or 20°) and
20 | 36 [40| 170 | 244 | 204 | 284 [10.5[M12[M10| 20 | 10 | DR40100L-X-S | DRA40125L-X-S | indicate the required &°.
24 | 42 (46| 175 | 258 | 201 | 289 |10.5M16{M12| 26 | 10 | DR46100L-X-S DR46125L-X-S
\& | www.guvenal.net E | 251
000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6 +7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Ejector Foot Code: DP
oA
oC
63
A
B[ T | D¥o1
T
90°
This unit is fixed through both ejector plates i junction with th Order A B b D
is unit is fixed through both ejector plates in conjunction with the
spacer discs to provide support to the plates. These are fixed to the DP.200506 | 20 | 5 16.5 3.5
ejector plates so eliminating machining in the back plates. DP.250508 | 25| 5 |8.5| 4.4
Easy installation by using just one screw. DP.280610 |28 | 6 | 12 | 5.5
Magnetic Safety Stopper  coce: TM 022
<60N
63
Ch_:‘e{-“."‘*’?-sa.- a ‘
o A | <20N
1 <
“TMagnetic Area
Order A
TM.102214 10
This s a safety stop to prevent the actuation of the ejector bases. TM.122214 112.5
It can be easily removed to release the grip on the pins when required. TM.152214 | 15
TM.202214 | 20
Shock Absorber Disc Code: TA
M6x25 [
DIN7991 | |
|
1
10 ;%
©
228

Used to minimize the vibrations caused by the ejector plates returning to
position. The main advantage is the increase in the life of parts within the

ejector frame through the reduction of damage and wear.

Mounting Flange Code: G110
Support washer & Guide pillar fixation

order: TA.280806 ‘

% It can also be used to
support for ejector plates
in injection moulds / etc.

% Reliable product used for
quide pillar with centre collar
mountings min. d3 + 1

— Countersunk
Head Screw

252 | E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

info@vivtech.ru

T 0 Pillar Diameter| Flange Screw
e\ | | d d S M
=,
{ 22 @15/ 16 o
25 @19/ 20 T
min. S+0.5" 32 @ 24 /25
40 @32/30 7.5 M8 x 20
% Order: 50 | @38/40
£ G110 xd3 60 | @ 48/50 r?]r?]
Usage: Support washer (Mould) 73 @60/ 63
Guide pillar fixation (Die) 93 @ 80 12 M12 x 20
www.guvenal.net \&

www.vivtech.ru




50
‘ 4 CUMVISA N
eyl
OCyo/e Counter
l @ POSOR00002 )
é cC
28
' 20
— 15 —
}
_|_ @) _}/n —-—--—»E
o
¥
L] ~B ic
n Security Switch n Unique Part Number
E Magnetic Fixing E IC Position Indicator
E] Total + Partial (Reset & Setting Up)
Reset & .
Order Setting Up Cycles / Min.
CC.HS5328 Suitable Up to 500
50 +0.2 (1)
i +0.5
p b e s
+ + — —— T
[=] —O o
e T
= —LR6 16
6-05
& |
+ —_
& Y
fe
A

000 "BMBTEX" 127254, Mocksa, yn.

www.guvenal.net

Pyctasenu . 14, cTp. 6

Guvenal®=

Die & Mould Components

High Speed Cycle Counter Code: CC
The Counter is expected to last 3 to 5 years, if it worked 24hour

7day / 12 month. The Counter battery starts working when it is installed

in the mould. When the Counter is removed from its placement, a capital
"E" (error) is shown on the screen, which you cannot delete.

This mechanism only activates after the first 25 consecutive shots.

In case you want to know the injected pieces during mould testing,

you can install the Counter and remove it with tape before the 25th shot,
then the Counter will go back to 0. As it has 7 numbers, it can count up to
9.999.999 parts.

To check exact total life time of the mould. To ensure that how many shots a
determined mould made when our sourced. To predict preventive maintenance.
Available with partial reset. The unique part n° for each counter gives a
quarantee to the mould makers and a planning aid for maintenance to the
mould makers. Any tampering with the unit is shown in the screen.

This unit contains an electronic circuit which counts the number of cycles

made by the mould.

Mounting Instructions:

1 - Please machine housing in a way that as determined in technical drawing.

2 - Please hammer Counter Pin (IC) of Counter to housing with bronze hammer.
3 - Please insert Counter unit (CC) its housing.

Working Temperature:

We recommend the Cycle Counter be placed at zones under 60 °C (140°F).

Mould Closed —| Min .1
Max .2
CUMSA
B804S ] |
Cycle Counter
N° 050899000002 /

B | 253

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Ejector Plate Accelerator

This item allows increased movement of a second ejector plate within a normal
ejector stroke. Simple mechanical double ejection system.

Minimum space required for installation.

Avoids complex systems like others currently available in the market.

In small and medium moulds with standard ejectors, 1 piece is sufficient.

In more larger moulds and systematic moulds according to their configurations,
dual Ejector Plate Accelerator can be used.

In a symmetric manner, generally 4 pieces.

Superior Double Ejector

The rear plates stop and the upper plates continue for the full ejection stroke.
Thanks to the assembly of the units away from the center of mold but within the
ejector frame the space required for installation is drastically reduced leaving
more space for other mechanisms. Also works as the ejector quide pins and
bushes, having the possibility of eliminating the need to install extra items.
Maximum working temperature 150°C.

kCA%EHTG -0.05

) : roglS " u DN s )
[ y D tE et g
e 1] = — -
| L Max. (fg | 6005 HlFJ\\/ O @
Q K ' f | 4pcs. g
G} & ‘ ©, \ /Cam Finger
‘ T Material: 1.7264 \;,,/
. LG\ (Dowel Pin) g | MI Hardness: 58 +2 HRC
-—F —-G- DIN 6325 ‘
D — A —
Hardness: 58 + 2 HRC Q
L[ L >
[ ] 1 7 | Q
|/ i o =
i @) + i T
L T8 =z
T T
Material: 1.503 Order A|B|C|[D E F| G| H
DX.142622 14 |26 |22 |30 34|20 | 16| 4
Order A B C D E F G DX.163027 16 (30 | 27 |34 |44 | 23| 18| 6
EP.200813 | 20 | 8 [13.2/25.8| 9.4 | 11.4 6
EP.251016 | 25 | 10 | 16 |32.3|11.8| 14.3 7 ] ¢ L L L LI L
EP.371522 |37.5| 15 | 22 |48.5]17.7| 21.5 | 10.5 125 | 72 | 243 | M6 | 21 | 42 | 48
EP.502030 | 50 | 20 | 30 |64.6|23.6| 28.6 | 14 152 | 8 | 314 | M8 | 24 | 54 | 80
HMax.|[LMax. | M | N | OP T Max. Force H M&X H
11.6 | 4.4 | 5 | 15 [2.5 x10[M3 x12| 125 Kag. =
15 57 6 |18.5] 3 x12 [M4 x16] 250 Kg. ML"J‘:E‘- 1
235 | 9.1 [ 8| 25 | 4x16 [M6 x25] 350 Kg. T
32 125 |10 | 34 | 5 x20 [M8 x30] 800 Kg. Ha ™~
PL4- = == =
i P8E T
o HE=
i iFl 1]
| (dl’ ‘ 161
| | 7
I . . .
! | Standard Ejector Plate Combination
—i | O Dx.142622 | IS DX.163027
Q}‘ﬂ}‘ | LN 1 (2 |3 (4 |UUM 1|2 (3(4|5|6|7[8]09
| di |[5(5|5|5||d1|5|5[5|5|0[0[0]0
} \ Pl.1 |17[17|17]27]| | PL1 |22]22] 22|22 |27 | 27|27 |27 |27
‘ ! Pl.2 | 9 |12]12]12]|| P2 |12]12]17 |17 |17|17|17|22]|22
NOTE: It is recommended two piece d2 |13|10|5 |5 d2 |[5|5|5|5|5|5|10|/ 0|0
to be used reciprocatively in ejector PI.3 |12|12|17|17|| PL.3 | 27|27 |22 |22 |22 |22|17| 22|22
system in mould applications. PlL.A | 9|9|9|12||Pl4 |17 |22 |12 |17 |12|17|12|12]|17
www.guvenal.net \&

254 | E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Compact Double Ejection

Developed for medium / large moulds.
The upper ejector plate stops when
reaching the core plate, and the rear
plate continues until it reaches the upper
plate. As the assembly of the units is

not in the center of the mold, but within

Two-Stage Ejector System

This unit divides the ejection travel in two predefined steps.
Useful to obtain automatic ejector strokes in moulds with sprung cores and
collapsible cores units. Only round pockets needed to install the part.
Double ejector stroke up to 30mm.

Material: 1.7243

Hardness: 58 + 2 HRC

the gjector frame, th ired f 160+1
e ejector frame, the space required for ey —
installation is drastically reduced. 4’\4(68)&18%\/ 41% &\ 0738 \exis
o @50 el 4 xScrew
Double ejection up to 56mm. i a s ;
— D
) \ al
& ] - — E==1 ¢=O
S @6 <
FlatPin |
L=/ Mat: 12842 -
4 pes. go/ | Hard.: 58 £ 2 HRC 5 PN
495+5 Cam Finger =5 -z @ 63.:539 Lf55a \ @ /‘
32 7N\ N\ %
M12 x 40 ‘| t j 4 pes. Cam Fi
4 x Screw \ ) pcs. Cam Finger
DIN912 £ 1-—=F —
5= T o
a8 1S 15
33-77777 S O I | ) IMPORTANT! 10
@~ kﬁ < To determine assembly 5
B ] — j dimensions, use the
It o | 032n6 stroke | scale from 0 to 30mm,
2 | 52-0.1 | 56 86-0.1 to select the first
3 L. < stroke. .
— g
S
¢}
. @
60 +0.2 order: DE.243648 2
Material: E
1.7242 S
Hardness: -
3 56 + 2 HRC
& Patented
9 System ‘
|
|
Order: SY.327054 i
© ) ()
H ) | Immi
[T é (4,—" |
| @S Al L @l \
T I =i c =0 !
W= LT DO N vy A 1 !
(I . — [ |
— o | |
r [ ‘ o } i And free 2nd opening.
— i —— i ——
| | |
| | |

www.guvenal.net

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

info@vivtech.ru

E | 255

www.vivtech.ru



Modular Retainer

Useful for moulds that require delayed opening of parting line.
Resistance can be increased by adding clips. No pocket
machining required as needed with other similar products on
the market. Minimum space required for installation.
Reduces costs compared to conventional mechanisms.

4 pieces can be used on same surface max.

The system should be distributed to different areas if the
more use is needed.

Material: 1.8159  Hardness: 45+3 HRC
Max. working temperature: 150°.

|
25 | i
i it ., O OI3
I | |
08 | | \
| M8 i i
DIN6325_ | DIN912 | |08
| L | DIN6325
< - 7;77 I m K\\ 1é
IS S PA) N
—16—-8-
IMPORTANT!

The values displayed
on the image are
approximate values
and they are used
with 1-2-3-4 groups.
Modular Retainer
groups should be
created in different
regions / directions of
the mould for more
loadings.

Fasteners:

Screw and pin should be
procured separately.

Order:

RM.651608
(1 pcs.)

Stroke Limiter

Stroke mechanical limiter for PR - Plate
Retainer. When PR coded product is used
dual opening systems with stripper limit
stroke of bearing plate which is opened
firstin 1st group. Possibility to reduce
the max. opening - 60mm. Then 2nd

group's opening is engaged.

Plate Retainer

PR - Guarantees that the second opening
stays closed until the first is completely open.
50 Kg. opening load required per unit
(Minimum of 2 parts required).

Possibility to change inner spring from

the parting line. Also protects mould affecting
from vibrations and impacts by reducing speed

tension and absorbing pi

nking during opening.

—

20-05 The most important advantage of it is to extent
/J\ life time of mould parts.
T d J'@ I 9 Mat. M8x25
= ‘ M4x15 17243 Screw
ard.:
\ EEE 50+2 HRC Hj 1 l;, :;’
4N Material: j
10 18159 ‘ u
o o ‘ Hardness : ‘ o
T8 |l 42 + 3HRC S
E ‘ Patented - o
¢ ‘ System Q
> | . T
N AR g —
.z S
- m—
11 ~ | 1)
© | o
i Tg | + I
. = ‘ S
! - 1
| = vat | 1+ M8x25
010 = ban: L) Screw
DIN6325 3 g 602 HRC
N /] Order:
— ><|  PR.263230
v rder:
= SL.602008 {
©)
. m|
:J D

<

—

7
—

;
(1.Mould Opening (2. Mould Opening
256 | EE

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

www.guvenal.net

+7 (495) 755-91-45

info@vivtech.ru

www.vivtech.ru



Internal Latch Lock

Controls two stage opening of the tool. Internal mechanism. Reduced space
required for installation. Developed for small / medium tools.
Can also be used to control two sets of ejection plates for two stage ejection.

M6 x16 — 36-0.05—26-0.05 -]
15.8
—— [ M6 x 20
£ 4.2+0.1 | 4x Screw |
o ———me== === == =
j - =
014 n6
0 36 g6

JdH ¢ + ¢9 'pley
clek'L “1eN
i
|
(o2}
(e}
S
a1
E~Y
=
©
N

Material: 1.7242
Hardness: 56 - 58 HRC
Patented System

Order Code: MX.143662

Spacer

After selecting the required
stroke, fix the scale lever.

Latch Lock

Designed for two steps opening moulds. The gradual scale allows selection of
the first opening. The priority of opening depends on position of assembly.
More accurate first plate opening compared to other conventional systems.
Scale lever indicates opening of the first plate. Reduces costs compared to
conventional mechanisms.

Material: 1.2842 Hardness: 55 + 3 HRC (friction area) Patented System
A - M|
Not Hardened — Eﬂ Stop
W\ r
3 8 ¢ 8 & 2 °© N
: |

Ce)) | S R
{/O) DIN7991 /D|N6325

—T—

(S.226616 can be used up to 500 x 500mm

in moulds with 3-plate,

(S.368619 can be used up to 800 x 800mm

in moulds with 3-plate.

(S.421024 can be used up to 1000 x 1000mm
in moulds with 3-plate.

Recommends using 4 units in each mould, which

are evenly spaced and symmetrical. P
DIN6325
Order A|B|C|D|E|F|G|H L
18 (GS.226616 |22 |66 (16|38|75|30|25| 32 | 105
R7— | 1214 r8| o
N 2 (GS.368619 |36 |86 (19|46(102|43| 32 |42.7| 153
s % N (GS.421024 | 42 |106|24|56 (124|511 | 40 |50.2| 190
. ‘ 25
M6 M6 ‘ M| N |Px2 |Rx4) |Sx2) | T V |[Scale
‘ be] 10 | 15 | 6x20 | 6x30 |M6x30 |M6x35| 10 | 40
| s LE 12 | 20 | 8x24 | 8x36 |M8x35|M8x40|11.5| 60
[ [T ‘ {LJ$3 15 |24.5| 10x30 | 10x40 M10x40/10x45| 14 | 80
E % = ‘ r Mould Closed Adjustable 1.0pening vpoRrTANT! 2. Opening Free
COEg &g & LJ ¥ -
e ] Sl N5 [ S e [
] i h :
K m |
Hills 1] L]
If 30mm 7 e o
E E E is selected, il _ . Free
SO[nm opening is obtained.
[ Mould Closed (1. Mould Opening [ 2. Mould Opening (Min. V)
G www.guvenal.net E 257

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Threaded Limiter

Threaded Limiter (LR) is mounted and fixed to mould rear mounting / bearing plate (H5 A).
Movable bush part of the unit is inserted into the ejector plates.

Limits the stroke of a threaded lifter with respect to the ejector stroke.
Enables two stage ejection with only one ejector plate. All movements are 90° to the parting line.

Material: 1.7243

Hardness: 58+2 HRC Max. working temperature: 150°

218 +2

2 pcs.
Cam
Finger

PW/PS/DL
Sprung Core
Standard Lifter
Dog Lifter

PX/ED/EE
Xtra Sprung Core

Double Ejector / Tulip Ejector
as per request

— 21 —— 22

Threaded Limiter Adapter

Allows the use of the LR for internal threads.
Itis a dual different threaded adapter providing
positioning of LR.

In Addition:

Fine tread part of AL also can be used as joint
adapter for PW - Sprung Cores & PS - Standard
Lifters.

Material: 1.5065

8 = 0.05

=

Adaptable to
LR.081620

80

GL'0N X
20- 97

Order B

AL.0800M4 M4 x 10

AL.0800M5 M5 x 10

AL.0800M6 M6 x 10

AL.0800M8 M8 x 10

DL —

L Cumsa

Dog Lifter

=

B |

‘+‘% -
—E—

|
\
\
\
y
\
\
\
\
\
\
\

258 | E

=3
l >
g Order A |AL
= LR.061620 | 6 | -
= LR.081620 | 8 | +
70 P LR.101620 |10| -
|
|
]
\
|
; \
} L
‘ +
=i il
‘ \
i L
‘ ([T
{ L2
L1 L]
==

i
)
55
T

I

www.guvenal.net

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

o

\

\

\
L
T

}

info@vivtech.ru  www.vivtech.ru




Ejector Pin Base (for headless ejector pins)

The ejector base unit is an automatic unit which holds the ejector pin

in position until the top is actuated. The pins can be taken out from the

front of the tool. Enables quick replacement of ejectors, ejector sleeve

and moulding inserts without taking the mould from the press. There is

no requirement for strip down when repair or maintenance is needed.
{! m
I |

\

Headless Type

.
3
*m

2+0.1 *u«

35005

Material: 1.7242

Hardness: 58 + 2 HRC

Max. working temperature: 150°
Ejector Pin Bases: It is only used for
headless ejectors.

Order A | B | ¢ |CrRN)

BE.031115 | 3 11 | 15 |>2550

Material:
BE.041216 | 4 | 12 | 16 |>2550(°™* ﬁLCR

Accelerated Ejector

Allows to increase the stroke of selected ejectors
within the tool. It is easy to install due to its cylindrical
shape and possible to automate conventional tools

Enables 8mm. / 15mm. / 20 mm. additional stroke on
one ejector pin. Only round pockets needed to install
the part. Possible to key. Enables quick replacement

of the ejector pin.

Material: 1.7225
Hardness: 54 + 2 HRC

Max. working temperature: 150°

<

BE.051317 | 5 13 | 17 |>3800

Order A B C

BA|BT

BA.061418 BT.061418 6 14 18 |3.5/4.2

BA.081620 BT.081620 8 16 20 |5.5(6.2

BA.101822 BT.101822 10 18 22

BA.122024 BT.122024 12 20 24

Patented System
4 N |
G—+Q
ok B e
@D [ ST (
77777 — ———— 2y e ws
; J E
I LZZJ r | Ar J T
B —M-—
[] ‘ {
~® A Q
i 8 2
Mat.: Brass JHL T
f—J——K |
Order A B C D E F G
AE.031620 3 16 20 12.5 22 13 14
AE.041620 4 16 20 12.5 22 13 14
AE.052430 5 24 30 16 34 16 20
AE.062430 6 24 30 16 34 16 20
AE.082430 8 24 30 17 34 17 20
AE.103036 10 30 36 21.5 40 21 28
AE.123036 12 30 36 21.5 40 21 28
| J K L M N P Q R
} 8 32 22 17 37 - 4 3
} 8 32 22 17 37 - 4 3
} 15 44 36 27 57 2 4 3
\ 15 44 36 27 57 2 4 3
15 44 36 27 57 2 4 3
20 62 46 34 78 2 6 4
o 20 62 46 34 78 2 6 4

When the internal bushing of this piece gets in contact with the plate, the mechanism

starts working. From that point, the ejector of the AE goes at double stroke.

The extra strokes of units:
- 8mm (0.315") of extra stroke, with the AE031620 and AE041620.
- 15mm (0.591") of extra stroke, with the AE052430, AE062430 and AE082430.

- 20mm (0.787") of extra stroke, with the AE103036 and AE123036.

* Possibility to key for using a curved ejector pin. (except AE.031620 & AE.041620)

|
I
I
i
Insert a New
Remove Ejector Pin | |
Ejector o) # BA-BE-BT
Magnetic St Pin :
E. Pin Base Magnetic St
| v
i ]
mir p |
ull
<= $ } H_ Ejector
(1) i g | |Plate @ i
Remove Lg'%—‘ i ‘ B il
Magnetic i|® I G110 ‘
I St | | | PUSh Efector Support Washer \
‘W’“ I | Plate Forward ‘ ‘ ‘ Mould Opened]
i |
(& www.guvenal.net

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

IMPORTANT!
i

M+0.4

Mould Closed ]

info@vivtech.ru

aF

E | 259

www.vivtech.ru




Guav

Die & Mould Cc

High Temperature Insert for
Date Stamp

Due to fact that the insert is adjustable / removable
from the front of the mould, there is no need to
remove the tool from the machine or disassemble
the mould.

Material: 1.2344 Nitrided

%

High Temperature Date Stamp

High temperature date stamp. Designed for
injection mold tools which operate in high
temperature environments,

like: Zamak, Zinc, Polyester, Bakelite, etc..
Possibilty to change annual insert.

Material: 1.2344 Nitrided + Inconel 2.4669
Max. working temperature: 450°

Block Base Insert

Wide range of diameters. Possibility of 3 or 4
information’s. Only a H7 pocket required for
assembly. No downtime when changing inserts.
Guarantee that the insert will be replaced

due to internal mechanism.

Material: INOX 1.4034

Hardness: 51 + 3 HRC

Max. working temperature: 150°

QE 22 _005‘<8 _005> 4_16 _005_>
O _o——— === — @24 ViE
. 2,1 +0.050
o [//1£0.050 | # - 8 +0.5
T
\ SY— ‘ S T N
~ 950HV 0.3 > Q‘C ,,,,,,, N | _
o 2
Arrow only Year ﬁ X 9 } 7777777 || DA
~ 950HV 0.3 @ A me
Possibilty to change annual insert.
12Months 12, honins Hen 2xa0°
Order Order C
Arrow only Year LT
IT.4719SF IT4719 .. |47 “1:
IT.6719SF IT.6719 .. 6.7 (Number of years)
* Please indicate the desired year after the code.
Order
12 Months A B C D N
IMPORTANT!
When replacing the insert, FIL G 121471115
be sure to tighten until o 1 FT. 1267SF | 12 | 16 [6.7|12 | 8
hearing the engagement 5
“click”. rder
9 ‘ 12 Months + Year A|B|C|D| N
FT.084712 | 8 |12 (47|11 | 5
FT. 126712 |12 | 16 |{6.7| 12| 8
Order
Year A|B|C|D|N
‘ FT.084705 | 8 |12 (47|11 | 5 Order A C E |#PM
} FT. 126708 | 12 | 16 [6.7| 12 | 8 BM.160603 16 | 6.5 3
\ . - : :
‘ * Please indicate the desired year after the code.
C nd el BM.180604 | 18 | 6.5 4
The depth is the engraving on the "FT" Date Stamp: BM.220903 2 |87 10 3
FT.08 (Year) : 0.15-0.25mm
BM.250904 | 25 (8.7 | 10 | 4
FT.08 (Arrow) : 0.40-0.50mm
FT.12 (Year) : 015-0.25mm BM.281103 | 28 |11.5| 12 | 3
FT.12 (Arrow) : 0.50-0.60mm BM.321104 | 32 (11.5| 12 | 4
260 E www.guvenal.net \&
000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6 +7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Guvenal®=

Die & Mould Components

< SV P g @Ams
L-005 KD L e oC
e — 63
wv
¢ o]
/T£0.050 Aé\D > Yy~ !
+0. |
— ke |
@Ams| oC =1 oA gs 12 T } Q
x| p ‘ 8
: N -
4 i *
—
Date Stamp Plus Code: FP.. Xtra Date Stamp oAo1 | Code: FX.
Possibility for cooling circuits below the date stamp as they are removed This is a permanent date stamp where only the central year insert is
from the front (with the EF). Inner insert is always at the same level as the changed. The month is changed by using a screwdriver.
body of the date stamp. Exact outer number positioning. Ideal clamping area. Completely stainless. Only a H7 pocket required for assembly.
LR L Al e e Material: INOX 1.4034 Hardness: 51 = 3 HRC
Max. working temp.: 150° Options: Max. working temp.: 100° Options:
A C D L N A C E N S
4.0 2.2 585 12 4
6.0 3.2 4 5 0.25
5.0 3.0 545 12 4 |12 Months 12 Months 12 Months 12 Months
+ Year 8.0 4.7 6 5 0.25 + Year
6.0 3.2 8.0 20 5 10 5.7 8 6 0.35
U @ 12 | 67 | 10 | 8 |035 @
10 5.7 8.0 20 6
N A . i
12 | 67 | 80 | 20 | 8 | "“vear  Blank Al orer: FX. (options) x A Blank
16 8.7 8.0 20 10 Order:
20 | 107] 80 | 20 | 10 || FP.(options)xA || xtra Insert for Date Stamp Gode: IX..
. Due to fact that the insert is adjustable / removable
Removal qu Set [ code: EF from the front of the mold, there is no need to remove
Removal Jig Set for the Date Stamps the tO(?l from the machine or disassemble the mould.
Plus. The set includes 8 parts, one Material: INOX 1.4034
for each FP diameter. Hardness: 51 + 3 HRC
Material: INOX 1.4034
Hardness: 51 + 3 HRC .
‘% S ) e Order C
Order:
M ‘ Arrow Only | Year
/N = 15.5
EF. 322405-SET IX.3215SF | IX.3215 .. [ 3.2
X.4715SF | IX.4715.. | 4.7
‘ 155 @ X.5715SF | X.5715.. | 5.7
32 IX.6715SF | IX.6715.. | 6.7
& 26
==l ==
| i
2 E o e
(=%
-E * Hummer f
[b = | to the .
II ‘ = ‘ max. :
@ = ;
] N = = ‘
SLE | Bro?ze | ‘
ro|@ SBB * I R
| ! \ 16+0.1 [
u ‘:T:‘ ﬁ ﬁCLICK! 1 ‘ ‘ ‘
| B » ]
— | H ‘
,,,,,,,,,,, Cooling Channel of Injection Mould—————— | of ‘ ‘ f (4]
Mounting Process: Removal Process:
oAH7
\& | www.guvenal.net E | 261

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Max. Ejector Stroke

i:r Imm

W @
‘ .l
STi. L

Air Valve for High Pressure

Developed for high injection pressures and high speed cycles.
Incorporates an internal stopper to sustain injection loads,
preventing the system to block. Keyed unit to allow the installation
in angled or shaped surfaces. Easy installation thanks to its
adjusting ring, as well as allowing uninstallation if needed.

A
P

Material: INOX 1.4034
Hardness: 51 + 3 HRC
Max. working temp.: 150°

Working pressure: 2-10 Bar
1Bar =1Kg./cm’

Triple air entrance to
ensure balanced

opening. —_—

Maximum Injection |
Pressure: 2500 Kgs / cm2

shaped surfaces.
IMPORTANT!
Maximum
machining
allowed

|

"VH" can be used on angled or

,,,,,,,,,,,,,,, | -

—@ A mé
—i
B b
i_ Order A B D E E H
12
P VH.065215 6 [53|19| 4 |58]0.25
\,
Tg g
i - i VH.086515 8 [6.7|21| 5 | 7.8 [0.75
‘ 3
. g F— VH.121015 12 {98 |29 | 5 [11.8]| 1.0
—@ A g6

Air Poppet Valve

Manufactured completely from stainless steel this
unit has the advantage of high airflow.

Helps part ejection with air. Recommended working
under 150°C (302°F). Above that temperature, steel
starts dilatation, so the resort introduced on the Air
Valve would lose efficiency. If so, the plastic material
could go in and the Air Valve would be damaged.

Material: \ — 1
INOX 1.4034 } Max. M
Hardness: !
51+ 3 HRC
Max. working ‘ I ‘ .g

5 o 1 ]
temp.: 150 | //§ s
Min. working \ =&
pressure: 3 Bar

1Bar =1Kg./cm’

Maximum

Injection

Pressure:
1200 Kgs/cm2

@ A mé

g

9]
o o
T ‘ I &
N i -
=3 T
% ; N U
@ A g6
Order A C|D/EIHI M
VA.050412 (5| 3 [12|1.5(4 |7 |25
VA.065212 | 6 |5.2[12[1.5] 4 | 7 |0.95
VA.086512 |8 |6.5(12(1.5|4 | 7 |0.95
VA.100812 (10| 8 (12| 2 | 8| 7 [0.95
VA.121012 |12| 10 |12{2.5/10| 7 |0.95
VA.161320 |16| 13 |20| 3 [12|12]|1.55
VA.201720 |20| 17 |[20{3.5(16|12|1.55

* Product VA.050412 does not contain
| mechanical stop.

262 | E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

www.guvenal.net

+7 (495) 755-91-45

info@vivtech.ru  www.vivtech.ru




Double Air Valve

An effective method of semi pneumatic ejection,
for moulds with ribs (in thin walled mould) or areas
forming gas traps or vacuum conditions. Helps part
gjection with air. Allows venting.

Sprue Adjuster

It is suitable to use on high injection pressure and fast / mass production stamps.
This unit allows runner shut off directly from the parting line.

Two models are available, depending if an ejector pin is required or not.
It can be installed in the cavity or in the core, allowing trapezoidal or full round runners.

= —@ A g6— ) gz) ;DQA96~
C -0.05 g Dévv» Material: x SW
[— H+1 — 'n ~——‘ INOX 1.4034 T : ¢
- | O : Hardness: (L J__ Ol ;[
] & J__ L ;[ 48 = 3HRC < ;
Q + f ; M ki g I
9 ffffff |- > o ‘ ax. working 2
g 5] : temp.: 100° ;
L] -
m | |
| With Ejector Bore }
CH. 2x10° L Material: /| | '
Material: /| ;3 17095 ITL @ B H7
1.7225
Material:
Hardness: SA.120014 |12|14| 4 3/5|/M6|3 SA.120314 |12|3(14|4 35| M6
8/ 3 HRG sa.160016 |16]16|5|8]5 |7 [m8| 4| [ sa1c0416 [16]4|16]5]8 5] 7 | M8
SA.200018 [20|18| 6 (10| 6 |9 [M10| 5 SA.200518 [20/5(18|6 (10| 6| 9 [M10| 5
Order A|B|C|E|H Open
VD.080512 8 |5 12| 4 | 7
VD.100612 | 10 | 6 |12 | 5 | 7
VD.120812 | 12 | 8 |12 | 7 | 7
Closed
VD.161020 | 16 | 10 [ 20 | 9 | 12
o@ 9 Trapezoidal Runner Full Round Runner @
% Bronze

‘ i VA

Mountijl | i | @Mvme

:D.

=
=
=

W

R

ﬁ%

)
P

/

Leﬁ”/é‘évity

Left Cavity

RiqhiEavity

Right Cavity

Open

End of Cumsa Products Section...

www.guvenal.net

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

Closed

/ VV\
\ J

[X]
Closed

E | 263

info@vivtech.ru  www.vivtech.ru




Guvenal &

ie & Mould Components

»
G 3
e X

' S5 XS

Laminar Gas Vent Order Code: LV.483610

Helps venting the mould cavity and the pneumatic ejection of the plastic part
(allows air passing in both directions). Maximize performance installing at the
end of the plastic flow. Supplied with 6 covers for maintenance purposes.
Also designed for use with Cumsa VB and SV systems.

Material: 1.4021

3

Gas Venting Filter for Diecasting Code: AHV

(aluminium & zamak moulds)

It is designed / produced with heat treated and large discharge poles.

It is a specially designed and highly productive product for

Diecasting Moulds & Injection Moulds.

The service life of the product is longer than the equivalent products.

You can minimize product replacement times by increasing productivity levels.

-0.01
36 -0.025
|
g w \
g |
S 6 +-——0>
\
L;J\ M5x10 Y
| DIN7984 - -
Cover (6 units) L Code: AHV
Mat.: Aluminium |
| Order (0 L (mm) A (Pore pcs.)
4 I
_ _ AHV.03 3.0 10 40
: AHV.04 4.0 10 40
- ; £0.02 AHV.05 5.0 10 90
33| 8 AHV.06 6.0 10 90
g ; AHV.08 8.0 10 200
w AHV.10 10 10 340
— — AHV.12 12 10 340
N ‘ A AHV.16 16 15 340
| R4.5 AHV.20 20 15 550
It is resistant to high temperature and pressure.
Pocket / Housing Detail:
j 10 +0.1
||
08
~——48—
—36—|
36 +0.02
R4.5 +0.01
264 | E www.guvenal.net G

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru




Sintered Gas Venting Filter

With its sintered & multi-pores structure, it is a
special product which discharges compressed gas
in injection moulds. Sintered Gas Venting Filters are
used for optimum venting of the mould cavity.

It is a high quality, stainless product which does not
leave marks on injected objects and can resist high
pressures.

0 D +0.05

Gas Venting Filter - Yellow Wired

In injection moulds, it drains unwanted gas created
by melted raw material fast via wide channels.
Does not resist to very high pressures, can dent
and leave a mark on objects in stamp. It is mostly
suitable to be used inner parts. It can be used in
metal injection moulds which do not require very
high temperature. It is an economical product.

In Mounting: Please use copper / rubber hammer.
Do not make any mechanic or polishing / levelling
process on filter unit, since this would clog up the pores.

In Production: Never touch Venting Filters on
operating moulds by hand.

Air Venting Valve for Blow Moulding

Itis used in blow mouldings for optimum ventilation
to mould cavity. Due to the air channels of valve
being parallel and wide, it drains the air in mould
rapidly, also air chamber inside of the unit acts as

a pool in drainage of the air. If the burrs become on
the product that should be cleaned instantly.

Those burrs causes adhesion to pores. For cleaning,
the compressed air or cleaning spray can be used.
(Guvenal Cleaning Spray Code: W170104).

Mounting: It provides tight keep and inside the safe
of hole thanks to its knurled outer part.

B B
1.6 ol |65 T 1 |D
o
2.0 <1 (9.0 o
2.5 > S 10 & L
' 8|8 10| 8
3.6 o 12.5 o
41| 9 ol |15 sl ‘
so[ 10| |8 [20 Sl [ocer TEEEEN . | D
GGA.03 3.0 8 . S
. o J
GGA.05 5.0 10 } l
GGA.06 6.0 10 y ‘ F
GGA.08 8.0 10 r
Sintered Gas Venting Filter EEHI Lo 10 |
with Steel Casing G 12 12 10 p
- External surface grinded. GGA.16 16 10 ‘ (Z;? T
- Sintered structure. e nlur ed—
- Similar with SGA model. — B
Mounting Mounting
P S — ) U
o
0 >é 0 # Order STV. | STV. | STV. | STV.
L 0D H7 . 0610 | 0810 | 1010 | 1210
Material: Stainless Sintered Steel 6 8 10 12
Fllter Fineness: 10 Microns 10 10 10 10
Tension: 300 N/ mm?
Resistance: Weak bases - Organic acids, . d 4.3 5.7 6.1 8.1
Plastic melts - Synthetic resins
t 2.0 2.0 2.0 2.0
Order | D | L Order | D | L e
GVSY.04 | 4 ovsviz |12 12| | NSRS IR SN e | 0303|0303
e e Tl K 40 | 45 | 45 | 45
GVSY.06 | 6 | 10| |GVsv.16 | 16 | 14 %&j;.////;:}//// T 70 Tes 70 70
GVSY.08 | 8 GVSY.20 | 20 SO N == =) L2 3.0 3.5 3.0 3'0
15 / / St P4
GVSY.10 | 10 |12 | | GVSY.28 | 28 \\ \\\\ \\\ \\ Knurled| 6.1 8.1 10.1 | 12.1
G www.guvenal.net E 265

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

+7 (495) 755-91-45

info@vivtech.ru  www.vivtech.ru



Recycling Date Stamp

(Plastic raw material data, definition & recycling stamps)

Text and Definition Characters: It is for precise sign / mark and definition of
plastic raw material that is inlaid in 0.2 depth (conical graduated) processing
on moulds in production according to diameters. In Addition, it facilitates to
recognize raw material that is about to break.

Stamp: It is compatible with DIN 6120 single symbol, ISO 1043-1 normal
sign / mark and international codes.

2 m———————
’)g’t
S‘.’im
ﬁw
g%

Date Stamp - Screwed

The Date Stamps which are mostly preferred for medium and small
dimensional moulds.

Easy to mount and can be mounted on tools such as Ejector Pins.

Rotary inner hub of Date Stamps can be adjusted as limitless (worm gear).
Mounting is completed by pressing on inner hub arrow and pulling with screw
from lower part. We offer wide range of options with our affordable prices.

B Types
Types —||-D
Month
= 4
Logol & H | | L VKTO1
GDMO1 < ﬁ,,i M| < As per request
S H Ot S
Blank | + [ : ' Month + Year . |
GDMO02 Mat.: 1.2083 1
N y—»ZB Hardness: 48 - 52 HRC VKT02
@ég PET | ~
— GOMO3 ™ oger |A|B|D|E|K|S M el
¢8%) wppe|| coM..06 | 6 [10 6| - |40|v4 VKTO03 et !
3908 GDMO4 | epm...08 | 8 [10 6| - [4.0|m4 ? _X_;
N GDM... 10 |10 |12 8 |1.6]5.6 |M5 Weekly J_ 1
(S5 PE-HD 0.3 r
&2/ pmos GDM...12 (12|12 10|2.0| 6.8 |[M6 VKTO4 =
GDM...16 |16 |14 12(2.6|9.0 |[M6 \ | Mat.ét1.'2?83
ainless
@@3 oy |LGoM--20 [20]16 16 [3.2[11.5|M6 | L
ov4/  GDMO06 @ Daily ! Hardness:
. 4 0l —I'ml<—— 48-52HRC
) ore : ﬁ Q VKTO5 i
Cff%) PE-LD — Shift 4 [125| 3 | 4 | M2
o=/ comos | Date Stamp for Food Legislation VKT06 5 | 14 | 3 | 4 [M25
N Order A|/B|D|E S M 6 16 3 4 | M3
@{‘:@ PE-BD Number
&2/ oMo GDM14.10 | 10|12 10 | 6.10 | M5 (figure) 8 18 4 4 M3
~ GDM14.16 |16 |14 [0.3| 16 | 9.08 | M6 VKTO7 10|22 | 4 | 4 | M3
e pp|| cpm14.20 |20 |16 20 | 12.30 | M6 12 | 25 | 6 | 6 | M4
94 GDM10 Letter
N _ 0 Inserting from Ato M Order:
85 PS Mounting (&= @ VKTO8 VKT (type). DxL
24 GDM11
B FBRONZE ] Letter Mounting
( Other - fromNto Z
HO GDM12 “3 VKT09 9D
% Other e« "M
0 t
— -— _,lo (blank) ‘ FDTate(gtamp |
Il DA . . i “FT” (Cumsa)
ﬁ]% Foodmark *001 ﬁ Dismounting VKT10 [ /. product should be
GDM14 7 | selected for metal
@ Custom-Made | injection moulds
! which require
R ~ VKT [ ‘ ] high temp.
266 E www.guvenal.net \&

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6 +7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Guvenal®=

Die & Mould Components

S P ~33Te
wi A i
‘ T
sr g
SN T A =% s Taw
] =@afp: < Jo= et
I l l" e ‘I lc’ 2 = : l
Date Stamp Code: KT Multi-Date / Double Date Stamp Code: DKT
Standard Models Two different Date Stamps, with a unit as months + years.
It is suitable to be used in all injection mould systems. Only a hole as This Guvenal product reducing needs and area required for cost and two different
product diameter (H7 - Reamed) is sufficient for mounting to mould. Date Stamp, shows two different criteria on one unit. Its standard model is as 12
Mounting: Drill a suitable hole in the desired part of mould and place month + 6 year, in other words is not required any change along 6 years.
Date Stamp into it (with bronze or rubber hammer). Making a tight hole The length of all Date Stamps are same (20 mm).

(not to rotate date stamp) is useful.
A wide range of options are available at affordable prices.

Anti-clockwise Clockwise b ]
Types (month +year) ~ (year + month) @ I _| )
=] =S4 = e z
S S l__ (S}
Month Only inner hub part is { !
rotated with ~12+1
KT01 screwdriver. 20-0.5 * |
N: (number of years)
Month + Year Code: DKT
KT02 Order D B © E N
E DKT.08 8 5.5 3 6 5
Year | DKT.10 10 6 3 10 6
KT03 —0OLzooz— DKT.12 12 8 4 10 6
* KT02 & KT04: Pls. specify "year" for your DKT.16 16 10.5 5.3 12 10
Weekly KT02 & KTO4 orders. DKT.20 20 12 6 16 12
KT04
di S E é@? Important;
. To change the month; the hub
Daily 4 6 2 10235 —+ arrow on the unit is turned counter
KT05 5 8 251 0.2 | 35 | clockwise (anti-clockwise) and the
6 3 35| 02| 4.0 I inner two parts are rotated. .
To change the year; please turn it
KT06 10 | 10 | 48 | 0.2 | 8.0 oE Material: 1.2083 / Stainless Steel
12 | 12 | 6.0 |0.25] 10 @LD—4H7 Hardness: 48 - 52 HRC
Number 16 | 14 | 7.8 |0.35| 12 r ook 4
figure &&=  pniclockwise lockwise
(Kg 7) 20 | 14 | 97 [0.35] 14 i g
0 25 | 25 [12.7]|0.35] 16
N: (number of years)
frorl;fi\hi(rJ M Order:
KT08 KT (type). DxL o )
Mini Screwdriver Set Order Code: CRP
Letter Adjusting = Date Stamp Adjusting Kit
fromNto Z Mounting ﬂ:l Mini Screwdriver Series:
; 6 pcs. rotary head set;
KT09 g p— +4pcs, 1.5-2-2.5 - 3 head
K mini screwdriver.
Arrowed | + 2 pcs, PHO - PH1 phillips head
(blank) } mini screwdriver.
KT10 -
{ * Chrome vanadium steel.
a?3 T B, * Blackened stainless ends.
Custom-Made 0OE , * Ergonomic handles.
KT11 4_,| ) 0 * Upper part of handle is rotary
@ DH7  Inserting head.
\& | www.guvenal.net E | 267

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6 +7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru



Guvenal &

Die & Mould Components

Air Venting Valve

Code: CHV

"CHV" Air Venting Valves produced from stainless steel.

It provides high air discharge. Also, the conical ejector rises and helps
the product exit from mould. The operating temperature under 150°C

is recommended.

In higher temperature than 150°C; steel starts

to expand and melt plastic raw material gets into valve and

Double Air Venting Valve

Code: DHV

"DHV" Double Air Venting Valves produced from stainless steel.

The product is effective for the semi-pneumatic ejection method.

Itis effective in discharging gas and air trapped in the final filling areas
of deep details in the moulds or in other possible areas and it helps the

product exit from mould.

In mounting; please use the copper or rubber hammer and bronze wedge.

0.03

Material: INOX 1.4034

L 00
| L
{ B /////"*‘
el O\ g
ST S
B |
_ | 12x10

Order d di L L1
DHV.08 8 5 12 7
DHV.10 10 6 12 7
DHV.12 12 8 12 7
DHV.16 16 10 20 12

< Air Inlet

prevents operation.
Maximum injection pressure:
@ Ams | 1200 Kgs/cm? —s
2B —
D <
0 g
e 3
= T &
T s
N L — 1 2
Material: INOX 1.4034
Operating air pressure: 1.5 - 6 Bar
1BAR = 1Kg./cm’

Order A B (5 D H M
CHV.05 12 1.5 2.5
CHV.06 6 5.2 12 1.5 7 0.95
CHV.08 8 6.5 12 1.5 7 0.95
CHV.10 10 8 12 2 7 0.95
CHV.12 12 10 12 2.5 7 0.95
CHV.16 16 13 20 3 12 | 1.55
CHV.20 20 17 20 3.5 12 | 1.55

Mounting Example I
Air Inlet »
268 | E

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6

Air / Gas Outlet

www.guvenal.net

+7 (495) 755-91-45

info@vivtech.ru  www.vivtech.ru



Air Venting Valve

It is the most suitable method for dissolving vacuum
during injection. In wide and narrow walled objects;
it continues to discharge compressed air by vacuum in
mould. All casing and machined surfaces have been
produced from stainless steel.

In comparison with PHV (pinned type), the

shorter length is advantageous.

Venting Valve for High Pressure

- Metal Injection gas venting & pneumatically
activated ejector.

- 2° conical head / mounting with "in vacuumed objects"

special reamer. Compressor air pressure min: 3-10 Bar
Mounting: It should be provided with special Material: 1.4034  Hardness: 52-55 HRC
reamer (VHR) and should be approx. 0.9mm - Max. temp.: 150°

out / above from mould parting line.
It is compatible with metal injection moulds.

Please use 1] 04:7;; <«—D m6—»
copper h [‘{ D -0.005 @ Order L1 d2

L
hammer! W i I KHV.06 | 6 | 12 | 7 | 35
Material: 1.4301 INOX - ‘ T T T KHV.08 8 15 5
Max. temp.: 250°C - i - O
= = \ i 8 KHV.10 | 10 | 20 | 13 | &
3 s
* S | _ = KHV.12 12 25 15 8
= | l KHV.16 | 16 | 30 [175| 8
d1 BN 0 | kHv.20 | 20 | 30 | 19 | 10
‘ Mounting: o O%é’
‘ VHV should be approx. d2 +0.1 =@ <D KHV.25 25 30 19 12
0.9mm out / above from
@ dl g7 mould parting line. KHV.30 30 30 | 275 | 15
order R a1 [k [0t
VHV.08 8 6 5 8 16
VHV.12 12 8 5 13 | 21 . .
VHV.16 16 | 10 6 14 | 22 Alr Ventlnq Valve

with Pin

It is the most efficient air venting product.

It is especially ideal for deep and large moulds.
In mounting; please use the copper or rubber
hammer and bronze wedge.

Compressor air
L pressure min: 2-9 Bar
E==i5 J

"in high and deep objects" Compressor air pressure min: 2-9 Bar

Material: 1.4031  Hardness: 52-55 HRC
Max. temp.: 150°

o
N

)
B
-
:to<l—
jluepodw|

30
o

. et +0.005 = D
Special Reamer for "VHV" Valve Dqo0s ~ ’"‘"”@ Order L[ [a1]a]R
L i } | Aﬁ PHV.08 | 8 [28] 11 ] 6 | 7 |01
| S 7 I | = 5 - PHV.10 [10[28|11] 7 | 8 o1
p— oo 53
d d2 I i ! Kl PHV.12 |12|30|11 |8 | 9 |02
f f i - PHV.16 |16 43|20 [10|14 |02
‘ PHV.18 |18 43|20 |10|14 |03
| ;
Order n @lalulL ‘ ) PHV.20 [20|43|20|10|16 |03
VHR.08 | 8 | 6 |10 | 5 | 69 02 0.1 ‘ PHV.25 |25 |60 [20/28 16 | 16 | 04
—t— (] —t——
VHR.12 | 12 | 8 | 12 | 5 |100
VHR.16 | 16 | 10 | 12 | 6 |122
\& ] www.guvenal.net E 269

000 "BUBTEX" 127254, Mocksa, yn. Pyctasenu g. 14, c1p. 6 +7 (495) 755-91-45  info@vivtech.ru  www.vivtech.ru





